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Subject : GE_Q01-Q10_PRT25FEBSH1
Question ID:- 1

Rearrange the parts in correct order to make a meaningful sentence.
(a) a writer should have

(b) a clear mind

(¢) and a good command of the language

(d) to write lucid prose

(1) (b). (@) (c), (d)
(2)  (b) (©), (d), (a)
(3) (o), (d), @), (b)
(4)  (d), (a), (b), (c)
Options:-

=1, Option ID :- 1,
= 2, Option ID :- 2,
= 3, Option ID :- 3,

= 4, Option ID :- 4,
Answer Given:- 4, Option ID : -4

Question ID:- 2

Change the following sentence from Active Voice to Passive Voice.
He takes dinner at 8 p.m. everyday.

(1) Dinner is taken by him at 8 p.m. everyday.

(2) Everyday at 8 p.m. dinner was taken by him.

(3) At8 p.m. everyday dinner was taken by him.

(4) Dinner is being taken by him at 8 p.m. everyday.

Options:-

=1, Option ID :- 5,
= 2, Option ID :- 6,
= 3, Option ID :- 7,

= 4, Option ID :- 8,
Answer Given:- 1, Option ID : -5

Question ID:- 3
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Fill in the blank with the correct preposition.

I am indebted you for all the help you have given me.
(1) with
(2) towards
(3) to
(4) in
Options:-

«1, Option ID :- 9,
= 2, Option ID :- 10,
=« 3, Option ID :- 11,

= 4, Option ID :- 12,
Answer Given:- 3, Option ID : -11

Question ID:- 4

Choose the correct tense form of the underlined expression from the given options.

They have been living in Amritsar since independence.

(1) Present Indefinite

(2) Present Continuous

(3) Present Perfect

(4) Present Perfect Continuous
Options:-

=1, Option ID :- 13,
= 2, Option ID :- 14,
« 3, Option ID :- 15,

= 4, Option ID :- 16,
Answer Given:- 4, Option ID : -16

Question ID:- 5

Change the following sentence from Direct Speech into Indirect Speech.
The traveller said to me, “Which road leads to the nearest inn 7

(1) The traveller asked me which road led to the nearest inn ?

(2) The traveller asked me which road led to the nearest inn.

(3) The traveller asked me that which road led to the nearest inn.

(

4) The traveller asked me which road is leading to the nearest inn.

Options:-

=1, Option ID :- 17,
= 2, Option ID :- 18,
= 3, Option ID :- 19,
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= 4, Option ID :- 20,
Answer Given:- 2, Option ID : -18

Question ID:- 6

Identify the part which contains the error.
English / as well as French / was taught / on the college.

(1) (2) (3) (4)

Options:-

=1, Option ID :- 21,
= 2, Option ID :- 22,
« 3, Option ID :- 23,

= 4, Option ID :- 24,
Answer Given:- 4, Option ID : -24

Question ID:- 7

Choose the word nearest in meaning to the given word.
APPLAUD

(1) exaggerate

(2) criticise

(3) praise

(4) worship
Options:-

=1, Option ID :- 25,
= 2, Option ID :- 26,
= 3, Option ID :- 27,

= 4, Option ID :- 28,
Answer Given:- 3, Option ID : -27

Question ID:- 8

Choose the word opposite in meaning to the given word.
DESTITUTE

(1) powerful

(2) affluent

(3) extravagant
(4) generous
Options:-

=1, Option ID :- 29,
= 2, Option ID :- 30,
= 3, Option ID :- 31,
= 4, Option ID :- 32,
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Answer Given:- 2, Option ID : -30

Question ID:- 9

Identify the part of speech of the underlined word.

Smoking is a bad habit and ought to be avoided.

(1) Pronoun

(2) Noun

(3) Adjective

(4) Interjection
Options:-

=1, Option ID :- 33,
= 2, Option ID :- 34,
= 3, Option ID :- 35,

= 4, Option ID :- 36,
Answer Given:- 2, Option ID : -34

Question ID:- 10

Identify the clause of the underlined part in the given sentence.
The sun which shines all day goes to rest in the evening.

(1) Noun Clause

(2) Adverb Clause

(3) Adjective Clause

(4) Principal Clause
Options:-

=1, Option ID :- 37,
= 2, Option ID :- 38,
= 3, Option ID :- 39,

= 4, Option ID :- 40,
Answer Given:- 3, Option ID : -39

Subject : GH_Q11-Q20_PRT25FEBSH1

Question ID:- 11
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Frerfafias weivr it srgde dgewt SAUT Senfia wee T S S

=l 9 ¢ T foam srerei= =1 Tom o7 g 3, a9 erdyra Hva g <11 2@ | H9R % 9o 49
H % =S Fed o W § | S SudferE § e g1 1 ge el ol R R s s @ ud d ad
gfn =1 uftsrn = WeRd € | BT Hiel g1 oS s | 351 1 & oehiel 91 S Hehd § Sl SYfes deele
H @ P O T e gu 39 =l o o oft T ued ¥ e 5 g & vl € R aeni et 1
T eVl SE-F ek € | A Fiferars =1 Her’ oS o 7 H S dl 59 He ¥ Hew 76 fistarn g

o wer Tt =it 79 g & 59
(1) 49 R Hd &

(2) U A F

(3) @reTE w1 Te #hed §

(4) S % HER Fed &

Options:-

=1, Option ID :- 41,
= 2, Option ID :- 42,
= 3, Option ID :- 43,

= 4, Option ID :- 44,
Answer Given:- 3, Option ID : -43

Question ID:- 12

Frerfafaa ey &t g ggent SHUT snarie wee & S e

9 0 =E € 5 fomm st o fam o9 g1 §, oo 1k g 211 571 1@ 8 | S8R & elsh 4
H 3Gk T Fd <N W E | A SUefer 7 o1 g w1 Yok Teide o few 1 eW o € el | g
g 1 ufrm S R 8 | 2SR Hie X oS i | 3991 2 @ deehial 9 & Hehd § ST SNy dehie
H B T AT A g0 SH S A off S Hhd €1 e 59 amar § ol ® R aen de @
HRATY eIV @Y Tehd © | A Sfererd w1 ‘He’ TS o g9 H Sran ol 39 e H W el firsrarn gea |

gfrn waeh Tt formes meqm 9 & TR B2
(1) 31&9a

(2) TEHE TH

(3) S SqcteEl

(4) =HfFTd 99
Options:-

=1, Option ID :- 45,
« 2, Option ID :- 46,
= 3, Option ID :- 47,

= 4, Option ID :- 48,
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Answer Given:- 3, Option ID : -47

Question ID:- 13

Frfelan ey &t samydes dgeEt SauT smenfia wes 1 Sue ST |

w9 0 4 T fagm steand o Fam o g1 B, e sreva 9978 211 o7 @1 8 | SOR & Yo &
T 3G S0 S o W@ 8 | Sk STetfeE 3 o1 g 1 Gah Teidieh off e ¥ 1 =W Fw € wel | g
g1 o] Ui o Wehd € | ST Hid L o3 T § 3991 Bld & dehial ard & Johd © S Yfeh Tkl
H 1 A U G 0 gL 3H TR H1 fFA ot 3@ wwd €1 e 39 aHar 9 gl ¢ T g Wi g
TR e ¥ -G Tk § | afe sifererd 1 aer’ ot F g H St 39 He 9 Haw @ fystar g

T meg | 39 g1 Hiel ¥ 1 SeAT aeelv <@-gH Tehd © 2

(1) e
(2) e
(3) HHER 9
(4) T
Options:-

=1, Option ID :- 49,
= 2, Option ID :- 50,
= 3, Option ID :- 51,

= 4, Option ID :- 52,
Answer Given:- 2, Option ID : -50

Question ID:- 14

‘fugge #1 Tuan 3 1" A = waiied e H #REF ¢

() =H

(2) I

(3) HYSH

(4) sTfeERTo
Options:-

=1, Option ID :- 53,
= 2, Option ID :- 54,
= 3, Option ID :- 55,

= 4, Option ID :- 56,
Answer Given:- 1, Option ID : -53

Question ID:- 15
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O & YR T STHTG 98 TH ¢
(1) =&Y - FH

(2) 2T - 2L

(3) THH - &

(4) foarem - formei
Options:-

=1, Option ID :- 57,
= 2, Option ID :- 58,
= 3, Option ID :- 59,

= 4, Option ID :- 60,
Answer Given:- 2, Option ID : -58

Question ID:- 16

(1) ey

(2) vEM

(3) HvE

(4) HHgE
Options:-

=1, Option ID :- 61,
= 2, Option ID :- 62,
« 3, Option ID :- 63,

= 4, Option ID :- 64,
Answer Given:- 1, Option ID : -61

Question ID:- 17

Frafafes faemmedl see—gHi § s/ g
(1) g - g

(2) T - W

(3) faer - e

(4) Tmior - fafmio
Options:-

=1, Option ID :- 65,
= 2, Option ID :- 66,
= 3, Option ID :- 67,
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= 4, Option ID :- 68,
Answer Given:- 4, Option ID : -68

Question ID:- 18

T % TR 9 ST - €

(1) HR - Jt

(2) THe - fofet

(3) SR - SELHI

(4) STEAMYH — FEAMUHI

Options:-

=1, Option ID :- 69,
= 2, Option ID :- 70,
= 3, Option ID :- 71,

= 4, Option ID :- 72,
Answer Given:- 4, Option ID : -72

Question ID:- 19

‘BIe Hg a9’ S 1 Weie faumE ®
(1) I =AfF gR FEl a1 FHel

(2) oS Td I &1 FHeAT

(3) 19 Bffd | dget a1 e

(4) g gfte =l 1d e

Options:-

=1, Option ID :- 73,
= 2, Option ID :- 74,
= 3, Option ID :- 75,

= 4, Option ID :- 76,
Answer Given:- 3, Option ID : -75

Question ID:- 20

"TES T HE T & A % Gt S § wea E

(1) sfTv==aEs

CIREFEREEED

(3) UYTETEH

(4) YHUETER
Options:-
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=1, Option ID :- 77,
= 2, Option ID :- 78,
= 3, Option ID :- 79,

= 4, Option ID :- 80,
Answer Given:- 1, Option ID : -77

GET IT ON
Google Play

Subject : GA_Q21-Q30_PRT25FEBSH1

Question ID:- 21

(1) Promotion of international peace
2
(3) Development of the scientific temper
(4) Respecting the National Anthem

Abjuring of violence

I % G % sfaria T & Aifa-Feves a@l § fFefated § 3 $e e 22
(1) sfeersdrg wnifd =i e S

(2) fé1 = w9y gEE @

(3) dfe WE F faw

(4) T TE T HHE FHEAI

Options:-

=1, Option ID :- 81,

= 2, Option ID :- 82,

« 3, Option ID :- 83,

= 4, Option ID :- 84,
Answer Given:- 3, Option ID : -83

Which of the following is a Directive Principle of State Policy under the Indian Constiution ?

Question ID:- 22

according to the National Family Health Survey 2019-21 ?

(1) Sikkim

(2) West Bengal
(3) Goa

(4) Kerala

https://kvsexam25feb23s1.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-2971-460b-9691-98a128654623&Rollno=2204126032500....
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T ER @Re Faaqv 2019-21 & 9, YRd o Fefafas § 9 fme o9 &1 5@ goqa &2 (fd
Hfgen, 9=1) a9 FH 8 ?

(1) fafers

(2) 9fe=m e

(3) TEn

(4) A
Options:-

=1, Option ID :- 85,
= 2, Option ID :- 86,
= 3, Option ID :- 87,

= 4, Option ID :- 88,
Answer Given:- 1, Option ID : -85

Question ID:- 23

What is Reichstag ?

(1) The place where the treaty of Versailles was signed
(2) The German Parliament

(3) The Nazi concentration camp

(4) Office of German Armed Forces Headquarters

‘ 'R ?

(1) o2 79 S8l 9™ o 94 o gxaer fhe e 9

(2) A T HEE

(3) TSi AsweiE) forfen

(4)  STHAT % WY Fal 6 g
Options:-

=1, Option ID :- 89,
= 2, Option ID :- 90,
= 3, Option ID :- 91,

= 4, Option ID :- 92,
Answer Given:- 4, Option ID : -92

Question ID:- 24
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What is the “slash and burn” method of cultivation called ?
(1) Jhum cultivation
(2) Jaalo cultivation
(3) Kiwad cultivation
(4)

4) Cropping cultivation

Gt e iR S’ fafty Fn et § 2

(1) #m s
(2) STl
(3) ferars @l
(4) T Gl
Options:-

«1, Option ID :- 93,
= 2, Option ID :- 94,
= 3, Option ID :- 95,

= 4, Option ID :- 96,
Answer Given:- 1, Option ID : -93

Question ID:- 25

Consider the fo]]owing statements regarding the ‘Bharat Ratna’” and identity the incorrect
statement :

(1) There is no restriction on the number of annual awards in a particular year

(2) The recommendation for the awards is made by the Prime Minister himself to the President
(3) The award does not carry any monetary grant
(4) Onconferment of the award, the receipientrecieves a sanad (cerificate) signed by the President

and a medallion

‘YRA ' % R H frefafEd wyEl W fEER FifE SR e wYE # 9g9H Hieg
(1) T gy | afifes M &1 Se 1 HE gfday T8 £

(2) EHE I AR yumEE gr e aeuld &1 6l Sl 2 )
(3) T H R IR TE < St ¥

(4)  HEE W 8 O, AT Tegufd g1 gSiae U HAE (WH-9A ) SR T Iee Wi o € |

Ui

Options:-
=1, Option ID :- 97,
= 2, Option ID :- 98,

= 3, Option ID :- 99,
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= 4, Option ID :- 100,
Answer Given:- 3, Option ID : -99

Question ID:- 26

Which state won the Indian Olympic Associaion’s Best State Trophy in the National games held in
Gujarat in 2022 ?

(1) Karnataka

(2) Uttar Pradesh
(3) Haryana
(4)

4 Maharashtra

Y 2022 H TSI H U TR Well H HRAE S 9 6 FE9S USA % FY T A Sl ?

(1) HAlesh
(2) W WeW
(3) &feamm
(4) WHERY
Options:-

=1, Option ID :- 101,
= 2, Option ID :- 102,
= 3, Option ID :- 103,

= 4, Option ID :- 104,
Answer Given:- 3, Option ID : -103

Question ID:- 27

Which book\Title was awarded the Sahiya Akademi Bal Sahitya Puraskar 2022 in Sanskrit?
(1) Balgeetgunjanam
(2) Bubhukshitah Kakah
(3) Sachitram Prahelikasatkam
(Abhinavsanskrit Prahelikah)
(4) Prodanam

Tehd § Gifecy TeRed! oot wifeey qOERR, 2022 fre qEae/side 1 wem T man?
(1) St Jsd

(2) SYfeRTaT FTERE
(3) W WRelsEmey (SAfassra Tefas)
(4) YREH
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Options:-

=1, Option ID :- 105,
= 2, Option ID :- 106,
= 3, Option ID :- 107,

= 4, Option ID :- 108,
Answer Given:- 3, Option ID : -107

Question ID:- 28

Consider the fo]]owing statements regarding Kisan Rail Scheme and idenity the incorrect
statement :

(1) The first Kisan Rail was flagged off from Sangola (Maharashtra) to Shalimar (West Bengal)
2

(2) These trains are multi- commodity, multi-consignor/consignee services
(3) These trains are used for transportation of perishable agriculture/horticulture products
(4)

The routes for Kisan Rails are decided on demand received from farmers and other stakeholders

o Y& Fre o =R | frefafed e © faear SIS 8] Ted e & 929 i
(1) Yol fFEM Y& & Siren (HeRre) 9 wemR (afv=E ame) + fog =emn @ o

(2) 3o =g, ag-Tags/ R dam £

(3) ¥« forl FwarErt Seadi i gars % forg 3= H @ S 2 |

(4) Torar Yot & Al o frof fererT qer o= fedqumenl & wre | o se o2 feman i #

2

Options:-

=1, Option ID :- 109,
= 2, Option ID :- 110,
= 3, Option ID :- 111,

= 4, Option ID :- 112,
Answer Given:- 4, Option ID : -112

Question ID:- 29

Which of the following type of soil/(s) tend/ (s) to be light, well aerated and dry ?
(1) Sandy soil

(2) Clayey soil
(3) Loamy soil
(4) Boh clayey and Loamy soil
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fore YR # fiedl so, o=} aiE @ arfaa oIk 3 a8 2
() el faed
(2) oot faed
(3) 3= faed
(4) ot o g} i ave =t faefent
Options:-

=1, Option ID :- 113,
= 2, Option ID :- 114,
« 3, Option ID :- 115,

= 4, Option ID :- 116,
Answer Given:- 4, Option ID : -116

Question ID:- 30

Which of the following statement(s) is/are correct about the vegetable-carrot ?
(A) Fibrous root

(B) Tap root

(C) Aerial root

(D) Storage root

Choose the correct answer from the codes below :

(1) (A) and (D) are correct

(2) (B) and (D) are correct

(3) (C) and (D) are correct

(4) Only (D) is correct

TSR Hesit & 9§ f=fafad 8§ 9 9 9 %99 9d © 7
(A) WER H7

(B) HEER (2U) &g

(C) drE (UfEe) %7

(D) HIUR (RRS) 7

= feu o e § F T R O
(1) (A) ¥R (D) ¥ &

(2) (B) ¥R (D) Wi &

(3) (C) 3 (D) W&l &

(4) e (D) HWE©
Options:-

=1, Option ID :- 117,
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= 2, Option ID :- 118,
= 3, Option ID :- 119,

= 4, Option ID :- 120,
Answer Given:- 2, Option ID : -118

Subject : RA _Q31-Q35_PRT25FEBSH1

Question ID:- 31

How many even numbers are there in the following number sequence which are preceded and
succeeded by odd number ?

123321423142233141

1) 5
2 3
(3) 4
4) 2

Trafafaa gen w0 5 th fea 99 e € 596 veet 23R o1 o faug g@n odt & 2
123321423142233141

[y 5
(2) 3
(3) 4
4 2

Options:-

=1, Option ID :- 121,
= 2, Option ID :- 122,
= 3, Option ID :- 123,

= 4, Option ID :- 124,
Answer Given:- 2, Option ID : -122

Question ID:- 32

Rohit walks 50 metres North, then turns right and walks 30 metres, then again turns right and
walks 15 metres. He then again turns right and walks 70 metres. Finally, he turns left and walks
60 metres. In which direction is he from his starting position ?

(1) North - East
(2) North - West
(3) South - East
(4) South - West
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Tfed 3 faen 9 50 Hiex = & 5 a8 gl o) e 30 Hiew Jem ¢ iR TR gl oI seR 15 HieX
TAN T | T Y: ST S gHAT § 31 70 HieX Ferar €| 3iq B, 7% 9 SR gHnT 60 Wil T § 1 7% 79
aifier T | frw fon 5 7

(1) SW-TH

(2) W -9fE=m

(3) =femwr-gd

(4) afeqor - ufyem
Options:-

«1, Option ID :- 125,
= 2, Option ID :- 126,
= 3, Option ID :- 127,

= 4, Option ID :- 128,
Answer Given:- 4, Option ID : -128

Question ID:- 33

P,Q R,5 T, U Vand W are sitting in a line facing North not necessarily in the same order.

‘W’ is on the immediate right of 'S’ . ‘Q’ is on the immediate left of “T". There are three persons
between ‘Q" and “W'. ‘P’ is adjacent to “U’. “V" is second to the left of “W’. ‘P’ and ‘Q’ are not at the
ends. ‘R’ is on the immediate right of “U’. Who is at the left end of the line ?

(1) {W}
@2 Vv
3) ‘U
4 T

P,Q,R,S T, U,V iR W 3t &I iR §g %% U U & 93 ¥ fohg 3 56t 79 & = 92 )

‘W, “S' & TeheH AT AR 81 ‘Q’, ‘T’ % UsheH aE! 3R B 1 ‘Q’ /W’ & &g i =afeg 98 €1 ‘P, ‘U
& faoga Fae &1V, W & 9l SIR ER WA RSB 81 P i Q frfi SR Ragf 92 €1 R, U'®
e g IR 931 ¢

iRl o =FH SIR 37d H &E §981 © 2
1 W
(2) V
3) U
4 T
Options:-

=1, Option ID :- 129,
= 2, Option ID :- 130,
= 3, Option ID :- 131,
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= 4, Option ID :- 132,
Answer Given:- 1, Option ID : -129

Question ID:- 34

Given below is a question followed by two statements numbered I and II each containing some
information. Decide which of the statement(s) is/are sufficient to answer the question.

Q: In a certain code language, ‘they are honest’ is written as ‘ra de si’ . What is the code for

‘are’ ?
I : In the same code language , ‘you are lucky’ is written as “si na to'.
IT: In the same code language, ‘roses are red” is written as ‘mo si lu’.

(1) The statement | alone is sufficient to answer the question while statement II alone is not
sufficient.

(2) The statement II alone is sufficient to answer the question while statement I alone is not
sufficient.

(3) Either statement I or statement II alone are sufficient to answer the question.

(4) Both statements I and II together are necessary to answer the question.

=1 Wy ez e 7 forsh a1g g1 R 1 oI 11 feu e B fomd wokes 6 & Siat < 71 €1 31y faofa
Fifee fo S /A FoF T H IW <A F 6w T 78 )

Y : TH H2 99 H ‘they are honest’ F1 ‘ra de si’ % &9 § o Sl #1 ‘are’ 3 fow #01 2 82
HATL :  3HI FHZ 9WIH, ‘youarelucky’ﬁ ‘sina to’ = &Y H ferar S g1

et 11 : E'HQI?,QEWﬁ,‘rosesarered’ﬁ‘mosilu'a?“@‘ilﬁﬁ@w%l

(1) A1 319l 999 o1 SR &7 o forg wafe @ sefes e 11 srsher gafe =18 2

(2) YA I 3Thet WA 1 ST oA * fou v € Stafs Sue 1 evher qate =8 T

(3) YT [ AYAT HYA [[ el YA 1 I & & forw gafe €1

(4) [ AR FUA 1 SFT fHete 997 o 30 o1 & o sewass 21

2

Options:-

=1, Option ID :- 133,
« 2, Option ID :- 134,
= 3, Option ID :- 135,

= 4, Option ID :- 136,
Answer Given:- 3, Option ID : -135

Question ID:- 35

https://kvsexam25feb23s1.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-2971-460b-9691-98a128654623&Rollno=220412603250... 17/103


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

3/7/23, 2:47 AM Response Sheet

In the venn diagram given below, circle ‘P’ represents educated, circle ‘Q’ represents rural, circle
‘R’ represents hard working and circle ‘S’ represents tactful persons.

Q
16
12 13
9
P18 5 8 15 |R
14
11
17
S
How many urban persons are there who are educated and tactful but not hard working ?
Iy 13
(2) 14
(3) 15
4 11

= fau o 3 s #, g9 P fafadl &, 99 'Q a1, g9 ‘R’ HEAdl 1 SR g9 ‘S SaaR-Fed
=Afgaal 1 yfaffea war 2

Q
16
12 13
9
Pl 18 5087 15 R
14
11
17
S
T forem el =fed & o forfar ofR seen-gpoet € fog Sewdt =& ¥ 2
(1) 13
(2) 14
3) 15
(4) 11
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Options:-

=1, Option ID :- 137,

= 2, Option ID :- 138,

= 3, Option ID :- 139,

« 4, Option ID :- 140,
Answer Given:- 2, Option ID : -138

Subject : CL_Q36-Q40_PRT25FEBSH1
Question ID:- 36

Garvita Sahay is planning to buy a new smart phone, which one of the following aspects should
she not be bothered about ?

(1) Internal Memory
(2) Camera Pixels

(3) Operating System
(4) Ethernet Port

T Her Uk 72 FHEHH TiE w1 AleH 97 @i g | 39 Frafafad 9 9 foem uee & =aR F o 78
=1y ?

(1) SeTa HAr
(2) S foeme
(3) AT fawes
(4) 3T U
Options:-

=1, Option ID :- 141,
= 2, Option ID :- 142,
= 3, Option ID :- 143,

= 4, Option ID :- 144,
Answer Given:- 4, Option ID : -144

Question ID:- 37

Which of the following ports will be most suitable for connecting High Quality Audio-Video output
on a PC/ a laptop ?

(1) USB
(2) PS2
(3) HDMI
(4) VGA
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forddt dt Hi/etuely W BRE-Fafae] siifed-aifed sii3eye &l Fia HT o foru Halfers 9 Ui A 9
g7

(1) ¥ uE st (USB)

(2) O TH 2 (PS2)

(3) THElUH 3 (HDMI)
(4) @ S T (VGA)

Options:-

=1, Option ID :- 145,
= 2, Option ID :- 146,
= 3, Option ID :- 147,

= 4, Option ID :- 148,
Answer Given:- 3, Option ID : -147

Question ID:- 38

Which of the following is an Antivirus Software ?
(1) Acrobat Reader

(2) MS Paint
(3) MySQL
(4) Quickheal

frafafea 9 9, 6 91 1% 1EEPRE SRaE § 2

(2) WU
(3) I TH ] UA (MySQL)
(4) oo &

Options:-

=1, Option ID :- 149,
= 2, Option ID :- 150,
= 3, Option ID :- 151,

= 4, Option ID :- 152,
Answer Given:- 4, Option ID : -152

Question ID:- 39
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is the file extension of an Excel file ?

(1) xelx

(2) xlsx

(3) xd

(4) excel

ol wereT el 1 hse far €

(1) xelx

(2) xlsx

(3) xc

(4) excel

Options:-

=1, Option ID :- 153,
= 2, Option ID :- 154,
= 3, Option ID :- 155,

= 4, Option ID :- 156,
Answer Given:- 2, Option ID : -154

Question ID:- 40

Which of the following is not an example of RDBMS ?
(1) MS Word

(2) MS SQL Server
(3) MySQL
(4) IBM DB2

Tfafad 5 9 @0 AR €1 & 14 T§ (RDBMS) &1 U 2@ 8 & ?

(1) MS Word

(2) MS SQL Server

(3) MySQL

(4) IBM DB2
Options:-

=1, Option ID :- 157,
= 2, Option ID :- 158,
« 3, Option ID :- 159,

= 4, Option ID :- 160,
Answer Given:- 1, Option ID : -157

Subject : UL_Q41-Q55_PRT25FEBSH1
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Question ID:- 41

Which of the following statements is correct ?

(1) Development refers to quantitative changes.

(2) Growth is a life long process.
(3) Development is a continuous process.
(4) Growth and Development go hand in hand.

frifera § | wF-w %y 9E § 7
(1) Tom =1 aeeed A uiEd 3 §

(2) Ffg Siaw v wwE 71

(3) oM ws sweRa Ui €1

(4) afg iR fasrg 1 e T 2 2
Options:-

=1, Option ID :- 161,
= 2, Option ID :- 162,
= 3, Option ID :- 163,

= 4, Option ID :- 164,
Answer Given:- 3, Option ID : -163

Question ID:- 42

In Cephalo - Caudal sequence the development of human beings happens from :

(1) Toe to head
(2) Head to toe
(3) Centre to Outside
(4) Outside to Centre

Tathel wrea o™ &9 o Ara = fasE 2m & ¢

(1) W& e 9 e
(2) fa & W& e 9
(3) FE H A TE

(4) IEF &F W g a6
Options:-

=1, Option ID :- 165,
= 2, Option ID :- 166,

= 3, Option ID :- 167,
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= 4, Option ID :- 168,
Answer Given:- 3, Option ID : -167

Question ID:- 43

Which one of the following is not a principle of growth and development ?
(1) Principle of Individual differences

(2) Principle of Developmental direction.

(3) Principle of Unpredictability.
(4)

4)  Principle of Integration.

freifera & & a1 gfg s fowrg =1 fogia =& &2
(1) =afews sim #1 fagia

(2) TasmrHs faw @ fagia

(3) ST 1 fagia

(4) U 1 fagid

Options:-

«1, Option ID :- 169,

= 2, Option ID :- 170,

= 3, Option ID :- 171,

= 4, Option ID :- 172,
Answer Given:- 3, Option ID : -171

Question ID:- 44

Identify the correct statement :

(1

Day dreaming helps adolescents to develop some aspirations in life.

2

)
(2) Day dreaming is unpleasant and anxiety arousing.
(3) Day dreaming can disturb mental equilibrium.
(4)

4 Day dreaming is necessary for becoming big.

et e =i fafad wifa

(1) feon @ 4 freiraa-ant &t Sieq 1 $2 aisnsti 1 fawfaa w3 o gerra frerd 3
(2) fean @@= gwg iR gfvea S 3 9 2T | |

(3) fean = & amfas g aifed & T €

(4) =gl T & T e e SE sravae B )

Options:-
=1, Option ID :- 173,
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= 2, Option ID :- 174,
= 3, Option ID :- 175,

« 4, Option ID :- 176,
Answer Given:- 3, Option ID : -175

Question ID:- 45

Which of the following statement is incorrect ?

(1) Concept formation is resultant of sensation and perception.

(2) Language acquisition helps concept formation.
(3) Concept formation is independent of environmental stimulations.
(4) Direct experience and examples help concept formation.

freifera & 9 9 W %Y TTed € 7

(1) Hehea faf HagAsie ST yereqo i i g

(2) o TS Y Geeqar oo | wer foert §1

(3) Hehegn famio wafeRoia sedioa & frifya 2 2 |

(4) YoIE STV SR SR § HehedAn i | e et ¥

2

Options:-

=1, Option ID :- 177,
« 2, Option ID :- 178,
« 3, Option ID :- 179,

« 4, Option ID :- 180,
Answer Given:- 3, Option ID : -179

Question ID:- 46

Children grow in self reliance, independence and selfgovernance during the age group :
(1) From 5 to 8 years

(2) From9 to 11 years

(3) From 12 to 14 years

(4) After 14 years

fr=ifera & 9 form o =t & araenl # o fofa, w=dsmn @i - 1 ve fasfaa 2 82
(1) 53944 8 99 d% =i 3 H

(2) 999 H 11 94 a5 & g °
(3) 12739 ¥ 14 94 % i 3 H
(4) 1499 T Y & YLAR
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Options:-

=1, Option ID :- 181,
= 2, Option ID :- 182,
« 3, Option ID :- 183,

= 4, Option ID :- 184,
Answer Given:- 4, Option ID : -184

Question ID:- 47

According to Kohlberg’s classification regarding development of moral values, conventional morality
level refers to the age group :

(1) 4 to 10 years
2) 10 to 13 years
13 years to later adulthood

F_'Q’r_\ﬁ_'ﬁ
S

4) Proper adulthood

e gl o faem o ot § hrerer] = aeieto & SHATHR W Hfdear e freifed | 9 fag ag-ar
Y geifed 72
(1) 499 ¥ 1094

(2) 1099 ® 13 949
(3) 1399 ¥ wEd dieee a%
(4) T YigEE

Options:-

=1, Option ID :- 185,
= 2, Option ID :- 186,
= 3, Option ID :- 187,

= 4, Option ID :- 188,
Answer Given:- 3, Option ID : -187

Question ID:- 48

Which one is not a method for training of emotions ?
(1) Repression

(2) Industriousness
(3) Secretiveness
(4) Redirection and Sublimation
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Treifera | 9§ = Ha =1 wierfarm s =i fafy =8 22
(1) =8
(2) R
(3) T
(4) T:FEYE iR S
Options:-

=1, Option ID :- 189,
= 2, Option ID :- 190,
« 3, Option ID :- 191,

= 4, Option ID :- 192,
Answer Given:- 2, Option ID : -190

Question ID:- 49

Which one of the following may not be considered as a characteristic of a socialized person ?
He/She -

(1) Mixes up with person and makes friends.

(2) Possesses limited social interests and focuses on them.

(3) Is not self centred.
(4)

4 Possesses sentiment of self regard.

frifera ® & ford) wwStiega =afaa &1 10 F@ J=1 ST HehaT © 7

=% JEu/Hfed

(1) SR % 91 Bel-Siel sgreRt S @1 fasee & sma/si €1

(2) H wifad wrferer St 2 € ofi ST A Shigg o s 2
(3) oI Shigd =&l Sravard 2 |

(4) AT TEF Y qTE WEHVTE |

Options:-

«1, Option ID :- 193,
= 2, Option ID :- 194,
= 3, Option ID :- 195,

= 4, Option ID :- 196,
Answer Given:- 2, Option ID : -194

Question ID:- 50
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Homeschooling is recognized by which agency ?
(1) State Board of Education

(2) Central Board of Secondary Education
(3) [ICSE

(4) NIOS

Te W feremea @t wifq fowemn (@ wpfem =1 Feifed § 3 g w5 ae € § 2

(1) T foanae

(2) haErE At e ae

(3) FEHTHE

(4) T e Tl Hear (49 o o )
Options:-

«1, Option ID :- 197,
= 2, Option ID :- 198,
= 3, Option ID :- 199,

= 4, Option ID :- 200,
Answer Given:- 4, Option ID : -200

Question ID:- 51

Which of the following statements is correct ?

(1) One may not possess high intelligence without having creative abilities.

(2) Adequate level of intelligence is not a necessary condition for being creative.
(3) Divergent thinking forms the basis of creativity.

(4) A mentally retarded person can also be expected to be creative.

friferd & | M T A § 2

(1)  gorTas Aramed % fa frd =afm & 5= gfgga 7 € g 3
(2) dfs = T W gSRid 8 % fog stewdes o[ T8 8

(3) dfaer fea goaesar % SR =t oo e § |

(4) wFfas w9 9 fofed safa § off gormfia 89 %1 adan i1 S 8

Options:-

«1, Option ID :- 201,
= 2, Option ID :- 202,
= 3, Option ID :- 203,

= 4, Option ID :- 204,
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Answer Given:- 4, Option ID : -204

Question ID:- 52

The statement that “The adolescents are rebellious by nature’, is regarded by experts as :
(1) a mis conception.

(2) a necessary character at that age.
(3) an effect of the enviroment.
(4) an objective description of this stage of development.

TFHFEfFE TR me i@ en &, 8 g Fn amd § 7
(1) Terd STaHRom

(2) W g T AEIF Ui

(3) HIERT = 4uHE

(4) ToeRTd =1 39 AR 1 FEgire Taawy
Options:-

=1, Option ID :- 205,
= 2, Option ID :- 206,
= 3, Option ID :- 207,

= 4, Option ID :- 208,
Answer Given:- 4, Option ID : -208

Question ID:- 53

The school through its programmes helps students to :
(1) assimilate culture.

(2) protest culture.

(3) make them cultured

(4)

4 ignore other cultures

Tererer™ =797 =rdsRH o A 9 faganfal #1 werd wd e
(1) HERd &l AHER HFH H

(2) HERfa @ faty & |

(3) 3% GHHd o H

(4) 11 HERfaal =i U A H
Options:-

=1, Option ID :- 209,
= 2, Option ID :- 210,
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=« 3, Option ID :- 211,

= 4, Option ID :- 212,
Answer Given:- 1, Option ID : -209

Question ID:- 54

Primarily Schools, as agent of society should focus on :

(1) Maintaining social norms.

(2) Providing students understanding of the environment.
(3) Developing vocational competence.
(4) Preparing children for social life.

HHTS o SfveRdl o &9 H mafees gl # fifed § | 5w em e s e ?
(1) ISR giaaml o HPRE 7

(2) o=l =i AE 1 THE YEH & W
(3) AEEaR <ar fohfad w7 ®

(4) STeTeRi I GEIRSE S % folu T9R e |
Options:-

=1, Option ID :- 213,
= 2, Option ID :- 214,
« 3, Option ID :- 215,

= 4, Option ID :- 216,
Answer Given:- 4, Option ID : -216

Question ID:- 55

Hari is a child who has begun to use symbols to represent objects but has difficulty with past and
future and can think logically in one direction. He is at which stage of cognitive development
given by Piaget ?

(1) Sensory motor

(2) Pre operational

(3) Concrete operational

(4) Formal operational
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B AT 1B e axqsl i FEud e % fou Hekdi 1 9= & gE e g feeg 38 i sk
fae 1 gHzH § HieE 2 @ 8 it ag difther gfie § we fewn & = Tehan & 11 foos o W o a8 9eish
A faehrd o fore =wo | 2 7

(1) el T

(2) YA HikRATeEs

(3) W HiRATE

(4) sfrenie dimams

Options:-

=1, Option ID :- 217,
= 2, Option ID :- 218,
= 3, Option ID :- 219,

= 4, Option ID :- 220,
Answer Given:- 2, Option ID : -218

Subject : UTL_Q56-Q70_PRT25FEBSH1

Question ID:- 56

Which one is the main limitation of subject centred approach to curriculum development ?
(1) Knowledge is considered as divided into subjects.

(2) Omits the importance of learner’s experiences.
(3) Subjects are generally taught in isolation.
(4) Course contents are segregated classwise in a hierarchical manner.

=t fator § foro hfed v i frefafaa § 9 99 o w9 @ e ?
(1) = = fareei & aifer g2 o S ¢ |

(2) e AfnTdisl % FvEl % Hed # BIS o 2

(3) WWrE: faua o ®Y | Y 9| F |

(4) @ F fava-aw # GO FEER e Y He-ar T FY g S ¥

Options:-

=1, Option ID :- 221,
= 2, Option ID :- 222,
= 3, Option ID :- 223,

= 4, Option ID :- 224,
Answer Given:- 2, Option ID : -222

Question ID:- 57
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While giving feedback to students, teacher is doing like this :

She/He is praising before telling about errors ; suggesting corrective measures about these errors.
What kind of assessment she/he is adopting ?

(1) Assessment as learning

(2) Assessment of learning
(3) Assessment for learning
(4) Summative assessment

B ) FEaF S THE; SR T R &

o TAfdEl FIa Y Tel JUH FA @ 3R 3 TaAfaal % o gUReTsE SurEl s e S ¥
o 5T YR & e 1 A @IS 2

(1) ftrm &% ®9 § e

(2) e = AR

(3) AT % faw smmeH

(4) ANTHE 3o

Options:-

=1, Option ID :- 225,
= 2, Option ID :- 226,
= 3, Option ID :- 227,

= 4, Option ID :- 228,
Answer Given:- 1, Option ID : -225

Question ID:- 58

Which one of the following may be considered as a limitation of “Competency based approach’ ?
(1) Children learn as per their pace of learning,.

(2) The learning climates in all schools are not conducive for optimizing learning.
(3) Immediate feedback is provided.
(4) Mastery learning is the goal.

freaferfad § 9§ frd ‘g sefid Sarm’ &1 Ueh S 5 S gl § 2

(1) == 379t Afenm ifd & oTER H@iad €1

(2) | foremeri | siftrm avareRw wan SAfir % fore e @ 2 7
(3) T THiga fean S €

(4)  Afermy H aoT o A B

Options:-
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=1, Option ID :- 229,
= 2, Option ID :- 230,
= 3, Option ID :- 231,

= 4, Option ID :- 232,
Answer Given:- 2, Option ID : -230

Question ID:- 59

Which of the following is not correct about experiential learning ?
(1) Learning is a holistic process.

(2) Learning lies in the product.

(3) Learning is a continuous process.
(4) Teacher acts as a facilitator.
SVATHS T o 9 H 0 T TR ¢ 2

(1) sifenm weF Tekegars! gfsan g

(2) e seares | fAfed B

(3) ferm wF Taa i # |

(4) STEATYF U Giaum-garn i YiH e 1

Options:-

=1, Option ID :- 233,
= 2, Option ID :- 234,
= 3, Option ID :- 235,

= 4, Option ID :- 236,
Answer Given:- 2, Option ID : -234

Question ID:- 60

What is the best way to handle a wrong response of a student ?

(1) Explaining the subject matter in detail once again

(2) Telling students that his/her answer is wrong

(3) Explaining the subject matter once again and then giving her/him another chance
(4) Asking another students to give correct answer
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forddt B % TTerd S § T9ed o gatan qiien 9§ 2
(1) oo arpEit =l w9 fif fasar | sam
(2) Tornfei =1 38 s i 3HH 39 e §
(3) o= 9l &1 U 9R R famr & e &R i 38w o e S
(4) gER famnedi § W& IW < o o Fwam
Options:-

=1, Option ID :- 237,
« 2, Option ID :- 238,
= 3, Option ID :- 239,

= 4, Option ID :- 240,
Answer Given:- 3, Option ID : -239

Question ID:- 61

Read the following :

(a) Children are totally involved in doing work without being disturbed by your presence.

(b) They are talking themselves, manipulating materials, trying different arrangements and ways
of solving the problem. |

(c) If you asked about what they were doing, they could clearly state their objectives.

What kind of learning is in progress ?

(1) Activity based learning

(2) Cooperative learning
(3) Collaborative learning
(4) Peer learning
Tt =1 feu :

(A) Tereneft suert sufeerfa § =aeper gu fomm o &m & qf e 9 ol gu €
(B) & 3M9d & a1d L T €, GEiE ¥ i @ @ €, guen 1 gogn & o fafue e siv ad @

O I @ F
(C) fg =119 379 7% U8 fF 3 0 3 ® ¥ o 9 o7 Ryl % R H T8 ®Y | o6 g |
o WeRT o1 @aferTe 2 @ R 2
(1) Toram snenfta stferm
(2) weHH Ay
(3) FBIfiTaT sferTH
(4) Hewe AT
Options:-

=1, Option ID :- 241,

https://kvsexam25feb23s1.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-2971-460b-9691-98a128654623&Rollno=220412603250...  33/103


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

3/7/23, 2:47 AM Response Sheet

= 2, Option ID :- 242,
= 3, Option ID :- 243,

= 4, Option ID :- 244,
Answer Given:- 2, Option ID : -242

Question ID:- 62

Which one of the following in correct ?

(1) Measurement is a process of obtaining information relative to some known objective.
(2) Measurement refers to quantitative data only.

(3) Evaluation refers to qualitative data only
(4)

4) Assessment is a process of awarding grades and declaring results.

Frefafad | 9 &F o w& €2

) T FS T 3299 ok HUA SRR U HE I 0 W E
(2) WY FHaA HETCTR SR H Hafhd §

(3) HEHIHA hae UcHE ST H Haibd 2 |

(4) HHeH TS ¢ R 9RO =ifed FH it Tk Wik 2
Options:-

=1, Option ID :- 245,

= 2, Option ID :- 246,

« 3, Option ID :- 247,

= 4, Option ID :- 248,
Answer Given:- 2, Option ID : -246

Question ID:- 63

Which of the following is not concerned with a unit test ?
(1) Standardized achievement test

(2) Remedial treatment

(3) Teacher’s control
(4)

4)  Limited number of competencies

Tre=fafaa § 9 =, ghiE giem 9 et 8 § 2

(1) WFE Fuife e

(2) IYIARHF ITIR

(3) 1A = =0

(4) A =i Hifbd Hexn
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Options:-

=1, Option ID :- 249,

= 2, Option ID :- 250,

= 3, Option ID :- 251,

= 4, Option ID :- 252,
Answer Given:- 2, Option ID : -250

Question ID:- 64

For keeping children lively, alert and busy, how can you save time, under classroom management
procedures ?

(1) By beginning the lesson when there is full calm and quite environment

(2) By giving your students a short written activity before starting a new activity
(3) By giving instructions as and when needed
(4) By allowing students to submit assignment as and when they complete it

o=l 1 iR, HerT SN oed T & Taw 1y s yeie i faferil o siavia ford Wenm S o= Tehd & 2
(1) & IO T Iid e 8 79 S JE Flh

(2) UH T forn gE F A Ted e farnfRi i uw Hivm fafea e S

(3) @ EYIF B, IIRY T

(4) Toenell s/@ o1 foan 1 & (TERETHE) T H O a9 3% 99 S R @ STAR G

Options:-

«1, Option ID :- 253,
= 2, Option ID :- 254,
= 3, Option ID :- 255,

= 4, Option ID :- 256,
Answer Given:- 3, Option ID : -255

Question ID:- 65

The unit plan is not of much help to teachers in :
(1) timely completion of syllabus,

(2) making adequate preparation for proper utilization of methods and materials.
(3) assigning home work to the students in a differentiated manner.
(4) preparing unit test for diagnosing learning difficulties and deciding about remedial measures.
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SIS AISHI eI ki STTHeR el el o Il -

(1) 9ISTsRY & 999 9 g0 L H |

(2) Tafeei iR Tmfie =1 3w STam 3 3 T9E SR w3 9 |
(3) fomnteii =t - 980% 4 Tewrd <A H
(4)

4)  wifer wee wieTEal o1 M 3 99 ST=NIE 3UE & 91 H 0 o 8 oS IiE i qa1i
FEAHI
Options:-

=1, Option ID :- 257,
= 2, Option ID :- 258,
= 3, Option ID :- 259,

= 4, Option ID :- 260,
Answer Given:- 4, Option ID : -260

Question ID:- 66

Which of the following statements truly defines teaching ?
(1) Teaching is engaging with students.

(2) Teaching is caring for students.
(3) Teaching is transmitting knowledge.
(4) Teaching is a system of actions intended to produce learning.

Frefafaa | 9, S |1 YA e &l 92 9§ 9 & g2
(1) Toreror foenfel=i 3 wey & o orE #

(2) Toraror fernfeidi =t S e €1
(3) Toneron 9 1 wEIRE T F
(4) Toregor fopaneti &t Wk qTed! © TSreert sTem stferms Seos) 3 1

Options:-

=1, Option ID :- 261,
= 2, Option ID :- 262,
= 3, Option ID :- 263,

= 4, Option ID :- 264,
Answer Given:- 1, Option ID : -261

Question ID:- 67

https://kvsexam25feb23s1.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-2971-460b-9691-98a128654623&Rollno=220412603250...  36/103


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

3/7/23, 2:47 AM Response Sheet

What is the most important precaution to be taken while interviewing students ?
(1) Allowing enough time to the respondent

(2) Making rapport with the respondent

(3) Bringing clarity in the questions

(4) Building trust and confidence

BEI ol HIETRR ofd 94 fore Haifess Ageryul et 1 e4m W@l s =gy ?
(1) WA gl (1) & w=| 99 &

(2) sTvEedl % WY A S

(3) 9 H wqEd A

(4) HOHET SR Tavam SHE
Options:-

«1, Option ID :- 265,
= 2, Option ID :- 266,
= 3, Option ID :- 267,

= 4, Option ID :- 268,
Answer Given:- 3, Option ID : -267

Question ID:- 68

Which one of the following is not a big issue for teachers of Multi level situation ?
(1) Using common text-books

(2) Addressing learning needs of high and low ability students

(3) Allowing all childrens’ learning at their own pace
(4)

4) Preparing appropriate teaching learning materials

e feafd & sieenl & foe Fafafaa 5 | o0 T 921 g8 96 8 2
(1)  HS GrSaTg&Tehi 1 FART L |

(2) ATk SR W A o foEnfeli 1 sIferm SEdl 1 SHINE |
(3) \fi femnferi =h1 st wifa & i g

(4) I9gSH ety Rl AR

Options:-

«1, Option ID :- 269,

= 2, Option ID :- 270,

= 3, Option ID :- 271,

= 4, Option ID :- 272,
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Answer Given:- 1, Option ID : -269

Question ID:- 69

In “Assessment as learning’ students do not engage in :
(1) Goal setting

(2) Monitoring their own progress

(3) Extrinsic Motivation
(4)

4 Reflecting on results

‘safer % w9 H s o faeneft w9  on # -

(1) @ieg fauio H)

(2) 379 = Wl @ A B
(3) @R UL o |

(4) afeorm T fawH w1

Options:-

=1, Option ID :- 273,
= 2, Option ID :- 274,
= 3, Option ID :- 275,

= 4, Option ID :- 276,
Answer Given:- 4, Option ID : -276

Question ID:- 70
The classroom discipline should be meant for ensuring :
(1)  Self direction
Personal and social adjustment

(2
(3) Acceptable classroom behaviour
(4)

Social conformity

FHET ST 1 o1 P ghfea w § 2
(1) =-feve

(2) feaw IR grferes TErEeH

(3) TEHE FeI-FE FFER

(4) HHIfSER STEYd

Options:-

=1, Option ID :- 277,

= 2, Option ID :- 278,
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= 3, Option ID :- 279,

= 4, Option ID :- 280,
Answer Given:- 3, Option ID : -279

Subject : CCLE_Q71-Q80_PRT25FEBSH1

Question ID:- 71

What is the advantage of “Educational Counselling” in schools ?
(1) Enables to study well for exams

(2) Promotes interest in studies

(3) Facilitates students to take right decisions in life

(4)

4)  Helps in selecting Job career

formeri § ‘ Steforer WSl S F FN AN E?
(1) ohen % fog o7=3t 9t 9§ 4 996 |

(2) 3TFFA T BE &l 9gE1 ST

(3) Bl %l Site H Wel foi% o+ | Ferd S |
(4) ISR HIER F =79 § Farad |
Options:-

=1, Option ID :- 281,
= 2, Option ID :- 282,
= 3, Option ID :- 283,

= 4, Option ID :- 284,
Answer Given:- 2, Option ID : -282

Question ID:- 72

Which one of the following could be an example of community learning ?
(1) Cinema Hall

(2) Cricket ground
(3) Home
(4)

4 Local vegetable market

TfafeEd | 3, ®F 9 9eEias ATH % UF 3[R 7

(1) T &

(2) e 1 B
3) X

(4) T Hesll AT
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Options:-

=1, Option ID :- 285,
= 2, Option ID :- 286,
= 3, Option ID :- 287,

= 4, Option ID :- 288,
Answer Given:- 4, Option ID : -288

Question ID:- 73

Which one of the following could be the reason for mental illness among children ?
(1) Hormonal imbalance

(2) Emotional disturbance
(3) Traditions and customs
(4) Family Environment

frefafeaa § 9, 0 91 Tas § ARiEs STEwd &1 UF F07 8 Hhdl ¢ 2
(1) @ e

(2) HAHE AR

(3) YR SR Afa-fars

(4) 9fter = arEL

Options:-

=1, Option ID :- 289,
= 2, Option ID :- 290,
= 3, Option ID :- 291,

= 4, Option ID :- 292,
Answer Given:- 2, Option ID : -290

Question ID:- 74

How to promote “Mental health” among children in schools ?
(1) Playing games

(2) Regular Meditation and Reading good books

(3) Watching TV Programmes
(4)

4 Educational Tour
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faamei § e § ' orfas e’ ) 59 R g5 S 99l @ 2
(1) E& Eeht

(2) THafma =am SR oT=8! Yxdeh dgat
(3) 2 @ HEHH T
(4)

VifateR gHoT ek

Options:-

=1, Option ID :- 293,
= 2, Option ID :- 294,
« 3, Option ID :- 295,

= 4, Option ID :- 296,
Answer Given:- 2, Option ID : -294

Question ID:- 75

What should be the essential quality of Professional Health Counseller in schools ?
(1) Emotions

(2) Sympathy
(3) Empathy
(4) Apathy

foremeri & U9ER wree wetErar § @ sifard o g e 2

(1) Ham

(2) weEryfa

(3) WRENfd

(4) HIE-RLAT
Options:-

=1, Option ID :- 297,
= 2, Option ID :- 298,
« 3, Option ID :- 299,

= 4, Option ID :- 300,
Answer Given:- 3, Option ID : -299

Question ID:- 76

The programme ‘Manodarpan’ launched by Ministry of Education, Govt. of India, refers to :
(1) Mental health of children

(2) Physical health of children

(3) Emotional health of children

(4) Social health of children
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Tore-v=Ter, MRd SRR 5RO foR T sy (e fRes HefiE € 2
(1) =Rl = HFfEH = o

(2) S & ARG @R

(3) TR s HeTcH w@Eed |

(4) STeTehi o HrHISER W@ |
Options:-

=1, Option ID :- 301,
= 2, Option ID :- 302,
= 3, Option ID :- 303,

= 4, Option ID :- 304,
Answer Given:- 1, Option ID : -301

Question 1ID:- 77

What is the minimum quantum of disability to claim benefits prescribed for Divyangjan ?

(1) 50%
(2) 40%
(3) 25%
(4) 35%

TesaiTsl & ferg fafafdwe @ =1 gen 39 &g 9 vean =1 =gaay q9eE Rl 8 2

(1) 50%
(2) 40%
(3) 25%
(4) 35%
Options:-

=1, Option ID :- 305,
= 2, Option ID :- 306,
= 3, Option ID :- 307,

= 4, Option ID :- 308,
Answer Given:- 4, Option ID : -308

Question ID:- 78
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Normally “Inclusive Education’ refers to :
(1) Adult Education

(2) Girl students
(3) Divyangjan students
(4) Minority community students

ger=a: Tt foen’ feeg gefug €2

(1) de e

(2) @t faenfe=n &

(3) fesaism fernfe=i |

(4) TeUHEIE T & faenfd |
Options:-

«1, Option ID :- 309,
= 2, Option ID :- 310,
= 3, Option ID :- 311,

= 4, Option ID :- 312,
Answer Given:- 3, Option ID : -311

Question ID:- 79

Which one of the following plays crucial role in educating the child other than school ?
(1) Cinema Hall

(2) Family
(3) Home
(4) Media

foamer™ ¥ 3o g1er 1 ffe & 4 Fefafead 3 9 o1 vyl v e 72

(1) T et

(2) URER

(3) ™=

(4) wifem
Options:-

«1, Option ID :- 313,
= 2, Option ID :- 314,
= 3, Option ID :- 315,
= 4, Option ID :- 316,
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Answer Given:- 2, Option ID : -314

Question ID:- 80

Which one of the following could be grey area in addressing mental health issues of school
children ?
(1) Lack of awareness

(2) Unmotivated Parents
(3) Lack of Professional Experts
(4) Shortage of Funds

formmerht ST & TG @ dedt gegi % goiyE | fefafed § 9 F @ 89 sifus g8 & @
g7

(1) SIFT&HAT i HHI

(2) TR-—giearied AT

(3) TR femiwal 1

(4) HFUT =
Options:-

=1, Option ID :- 317,
« 2, Option ID :- 318,
= 3, Option ID :- 319,

= 4, Option ID :- 320,
Answer Given:- 2, Option ID : -318

Subject : SOL_Q81-Q90_PRT25FEBSH1

Question ID:- 81

In present Indian school context a teacher as reflective practitioner has to be a :
(1) Idealist

(2) Realist
(3) Naturalist
(4) Pragmatist

T YR Fferer desl o v et et e 8 =En ?

(1) Teefama
(2) FmefErT
(3) FHfqaEm
(4) WASHER!
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Options:-

=1, Option ID :- 321,
= 2, Option ID :- 322,
= 3, Option ID :- 323,

= 4, Option ID :- 324,
Answer Given:- 1, Option ID : -321

Question ID:- 82

Which one of the following a good school leader of a primary school should not discuss with his/
her collegues ?

(1) Political discussion

(2) Discussion on his/her nature
(3) Discussion about family background of children
(4) Discussion about the nature of their principal

U NAfE Tl % UF 58 Jgenia ST Hi o Fehiddl & @y e d & e we W ==l @
HEA! Afee ?

(1)  TsHITd 9 ==l

(2) SHH YA WYE G ==

(3) SeTeR i e guyf W ==

(4) ¥k WrEE % e W

Options:-

=1, Option ID :- 325,
= 2, Option ID :- 326,
= 3, Option ID :- 327,

= 4, Option ID :- 328,
Answer Given:- 4, Option ID : -328

Question ID:- 83

What is distributed leadership in the context of school education ?
(1)  When a teacher distributes his workload among younger collegues.

(2) When a teacher distributes work among his/collegues in a justifiable way.
(3) Employing more than one vice principal in schools.
(4) When a teacher distributes and collects various proforma among his/her collegues.
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w1 foen % geiy § erdes (fefigsgfes) g an @2

(1) @ Uz forere 1o SR o199 wiag gl | afe ¢

(2) & U e o7 wesmTHAl | =EETd T 9 HE o gean & |
(3) Thell H SE Tk § SAG Y-FHAEET Rl @ |

(4) 9w Toerr 9 weAlEl H fafas gusl 6l =i # gy

Options:-

=1, Option ID :- 329,
= 2, Option ID :- 330,
« 3, Option ID :- 331,

= 4, Option ID :- 332,
Answer Given:- 2, Option ID : -330

Question ID:- 84

What is not required in developing a school plan ?
(1) Data of school results in last 5 years

(2) Data of Teachers’ qualifications

(3) Health report cards of students
(4)

4 Genetic constitution of learners

Ue whel A faswfad e H foraet saveenar 16§ 7
(1) frzet o= a¥ § e 9fitom & 1w |

(2) Tl &1 drEar & SAiFS |

(3) B % TEre R e |

(4) SAferHeRdie sl SIS HEAT |
Options:-

=1, Option ID :- 333,
= 2, Option ID :- 334,
« 3, Option ID :- 335,

= 4, Option ID :- 336,
Answer Given:- 4, Option ID : -336

Question ID:- 85

Which one of the following may not be needed for developing an annual plan of a school ?
(1) Qualification of teachers

(2) Data of admission of students

(3) Government circular on the list of teacher awardees

(4)

4 Government circular on using innovative teaching methods
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=1 9§ % |1 UF, TF A F aiftie drem o9 o fou Sqevdss @l 2 ?
(1) Toagni =t Frgan

(2) BT W RS

(3) YT forerenl Heidl SRRl g1

(4) eTER faeor fafer SwEm w7 ded TRt g

2

Options:-

=1, Option ID :- 337,
= 2, Option ID :- 338,
= 3, Option ID :- 339,

= 4, Option ID :- 340,
Answer Given:- 3, Option ID : -339

Question ID:- 86

While framing a school time table, generally which one of the following is considered as difficult to
learn ?

(1) English and Maths

(2) Music
(3) History
(4) Social Studies

e o1 THA HIRO 9 9, Erad e 3 H R T o wied faw qe s @ 2

(1) sl 3R i

(2) HHa

(3) zfiem

(4) GHifSR eI
Options:-

=1, Option ID :- 341,
= 2, Option ID :- 342,
= 3, Option ID :- 343,

= 4, Option ID :- 344,
Answer Given:- 1, Option ID : -341

Question ID:- 87
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The achievement data of a school may not be useful in
(1) Framing admission policy

(2) Deciding teaching strategy

(3) Distributing work among teachers

(4) Setting future goals

U Thel T et Heut ee Ry § wems e & 9 2
(1) o9 =fifq o g

(2) Toregor st TorHifd @9 & H

(3) fonereni 6 wrd & dean H

(4) ifersr & Igevd e |
Options:-

«1, Option ID :- 345,
= 2, Option ID :- 346,
= 3, Option ID :- 347,

= 4, Option ID :- 348,
Answer Given:- 1, Option ID : -345

Question ID:- 88

Who is the best initiator as a teacher ?
(1) Mr. Ram is an introvert but a good team builder.

(2) Mr. Yadu has been successful in positively changing the confidence level of all his students.
(3) Ms. Nair has good emotional connection with her students.
(4) Mrs. Lahiri has successfully been able to collect school fee from all parents.

ue forerss & F9 H Hafay gREH S § 7

(1) st T SqgE § W9 9 § FIA E |

(2) =it 4g v Tl BE % SAeATIYETE 1 UTR ®9 Y geH § 9% @ &
(3) St PR F Y BHEI H =S HAMEH HaY B |

(4) sfmdt enfeet @t sfiamEes | e W 9geH H Wohel @ 2 |

Options:-

«1, Option ID :- 349,
= 2, Option ID :- 350,
= 3, Option ID :- 351,
= 4, Option ID :- 352,
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Answer Given:- 2, Option ID : -350

Question ID:- 89

Ideally the task of a school development plan should be given to :
(1) Principal and Vice Principal

(2) Principal, Vice Principal and School Inspector

(3) Teachers, Parents and School Passouts
(4)

4 Parents and School Passouts

STew ¥ § Thel fasry A s w1 wE fRd S =nfen 2

(1) 9HET=EE UE 39 Y9 &

(2) WHFTE, 39 QAR UE e e
(3) Torerss, sifsramas U9 Wha § U g @R
(4) sIfvEE® SR T 8 99 g Enl
Options:-

=1, Option ID :- 353,
« 2, Option ID :- 354,
= 3, Option ID :- 355,

= 4, Option ID :- 356,
Answer Given:- 2, Option ID : -354

Question ID:- 90

Partnership with community by school can be best created by
(1) conducting more frequent meetings with parents.
(2) asking influential community people to visit school and interact with teachers.

(3) visiting every part of community and seeking comuunity peoples’ views and suggestions for
school education.

(4) honouring honest and good people of community.

U @hel gRI FHEH & | HEERT T o1 Heiod i #41 § ?

(1) = e % @ iR sifes S w

(2) HHSHE o YEE] AN sl Whel SR ok & Wy 37=: a1 HE Hl FHEhi
(3) Tpel Toren ¥ AR F Y% Wi § SR 9 o il % Hd 9 g e |

(4) HHIM % SHMGR AR 7= AN ol FHIHA i |

Options:-
=1, Option ID :- 357,
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= 2, Option ID :- 358,
= 3, Option ID :- 359,

= 4, Option ID :- 360,
Answer Given:- 3, Option ID : -359

Subject : PE_Q91-Q100_PRT25FEBSH1

Question ID:- 91

For bringing in equality the best agency is
(1) Constitution

(2) Family

(3) School

(4) Mass Media

T @ 8 HaraH HIETH %A ¢ ?

(1) wfaym

(2) uER

(3) w&rd

(4) S YER 9ER H1EAH
Options:-

=1, Option ID :- 361,
= 2, Option ID :- 362,
= 3, Option ID :- 363,

= 4, Option ID :- 364,
Answer Given:- 1, Option ID : -361

Question ID:- 92

Critical thinking can be enhanced even after reducing curricular load. This view was expressed
significantly by which document ?

(1) NEP - 2020

(2) NPE - 1986

(3) NCF - 2005

(4) NCFTE - 2009
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TSTEA YR FH FTek ot IHTErEAeTSE fHw o SeEl S Tehdl ¢ | 38 Ha fed gxaes A wga 4 faa ?
(1) NEP - 2020

(2) NPE - 1986
(3) NCF - 2005
(4) NCFTE - 2009
Options:-

=1, Option ID :- 365,
= 2, Option ID :- 366,
« 3, Option ID :- 367,

= 4, Option ID :- 368,
Answer Given:- 1, Option ID : -365

Question ID:- 93

Which one of the following statements is correct ?
(1) Pedagogy is part of curriculum.

(2) Curriculum is part of pedagogy.

(3) Curriculum and pedagogy are the same.

(4)

4) Curriculum and pedagogy have no relationship.

foret 3 9 - e TE 2

(1) foreomme ==l 1 9rT E 1

(2) TSIl T 1 9 ¥

(3) reT=Al R e v w2

(4) OISR ferere § K day T8 2

Options:-

=1, Option ID :- 369,
= 2, Option ID :- 370,
= 3, Option ID :- 371,

= 4, Option ID :- 372,
Answer Given:- 1, Option ID : -369

Question ID:- 94

The idea of competency based learning implies that
(1) Each teacher teach one student.
Each student learns as per his/her pace and aptitude.

4

(2)
(3) Schools should have provision for training maximum number of vocations.
(4) Schools should have provision for teaching almost every subject.
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geyan S e3ferTy o fa=uR | @ e 7

(1) 9k foerer we femnedl =1 e

(2) e faeneft sroe wfg iR sifwerar @ 9

(3) Ehell =l SAfueshaq Hea § e H wike 1 greEE TEA =fwy
(4) THell sl T B R 1 UgH 1 WEEE 1@ TR

2

Options:-

=1, Option ID :- 373,
= 2, Option ID :- 374,
= 3, Option ID :- 375,

= 4, Option ID :- 376,
Answer Given:- 2, Option ID : -374

Question ID:- 95

We give emphasis of child rights in our school system because :
(1) Children are the wealth of a nation.

(2) Children cannot raise their voice.

(3) Child age is a most vulnerable age.
(4)

4)  Children are of low age.

T Thell e § g9 ard SAfusrl T SR g4 € ife

(1) == T %t Gufg s 2 1

(2) &= STl SAETS A2l 387 Hehdl |

(3) SICATEE Sgd AF AR ST gl ¢
(4) THFASAF AL

Options:-

=1, Option ID :- 377,
= 2, Option ID :- 378,
= 3, Option ID :- 379,

= 4, Option ID :- 380,
Answer Given:- 1, Option ID : -377

Question ID:- 96
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Why is there provision for free education at elementary school level ?
(1) Through this the government can advance its agenda.

(2) Through this the deprived sections of society can be educated.
(3) Through this the governments can attain popularity.
(4) For reducing poverty.

yrfieR Thel T o foren = e < S 8 7

(1) 39% B0 SR ST F1AHH A 5g Gt 2
(2) I G GuIS o dfea o fafem fr s wend €)
(3) T G TN AHFHAT 91 Hehell & |

(4) TS HH HE T

Options:-

«1, Option ID :- 381,
= 2, Option ID :- 382,
= 3, Option ID :- 383,

= 4, Option ID :- 384,
Answer Given:- 2, Option ID : -382

Question ID:- 97

Who suggested that the science and maths should be compulsorily taught to girls upto 10

class ?

(1) NEP - 2020

(2) NEP - 1986

(3) Kothari Commission
(4) NCF - 2005

fora game oo o aefedi =1 ot en 10 7 fagm @ik nfm s1fem w9 § v =i 2

(1) NEP - 2020
(2) NEP - 1986
(3) IS HAEAM
(4) NCF - 2005
Options:-

=1, Option ID :- 385,
= 2, Option ID :- 386,
= 3, Option ID :- 387,
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= 4, Option ID :- 388,
Answer Given:- 4, Option ID : -388

Question ID:- 98

Who conceptualized the idea of DIET (District Institute of Education and Training) ?
(1) NPE - 1986

(2) NEP - 2020
(3) NCF - 2005
(4) NCFTE - 2009

TP (DIET ) =f7 foren foven ud ufvtern Serm &1 e fFgst €2
(1) NPE - 1986

(2) NEP - 2020

(3) NCF - 2005

(4) NCFTE - 2009
Options:-

=1, Option ID :- 389,
= 2, Option ID :- 390,
= 3, Option ID :- 391,

= 4, Option ID :- 392,
Answer Given:- 1, Option ID : -389

Question ID:- 99

What kind of experiences are included in the concept of curriculum ? Choose the best answer.
(1) Desired experiences

(2) Planned experiences
(3) Unplanned and undesired experiences
(4) Desired, undesired, planned and unplanned experiences

UTST=R1 1 SEYRUN H A ¥ sV e € 7 Jeas W g |
(1) =ifed gya

(2) Tt sy

(3) AT iR sfaifed syE

(4) @ifeq, sEifed, Feifsd ok sifwfed sya

Options:-
=1, Option ID :- 393,
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= 2, Option ID :- 394,
= 3, Option ID :- 395,

= 4, Option ID :- 396,
Answer Given:- 4, Option ID : -396

Question ID:- 100

Which type of assessment will you not suggest for primary classes ?
(1) Formative

(2) Oral
(3) Written
(4) Summative

wreifirer smenell ¥q o9 ford WehR & goish o1 e el &l ?

(1) TEATHS

(2) dHifas

(3) ferfEa

(4) HeheHHE
Options:-

=1, Option ID :- 397,
= 2, Option ID :- 398,
= 3, Option ID :- 399,

= 4, Option ID :- 400,
Answer Given:- 4, Option ID : -400

Subject : HINDI_Q101-Q120_PRT25FEBSH1

Question ID:- 101
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Freafafiea iy St ey TgeRt SHUR ST W9 6T TEis ST S :

A MRl IR 55q g0 i & Ferasy qeErg Jaifs gt o fate & Tt &
IYER YA ST FHA-FREH, TEh! IR T2rat IR o =1 fadien ya17 ar gaferor =i s, faier sik
froffa =1 w1 81 Fa-FraEr @ FEer a6 w9 & 31 A4 3R S # i 59 # agfie @i
S 9 18 €1 HE O S o W el i W uEd gU Sedel W it S e et fatred
91 9 g, e SR gt wefia € @ 8 1 seRa Sredt g8 o, Termted, Hiethnil $iR whedl 1 iR Fed
IHEAT G YR VIR, el ShIETHl oh I Rl AT Shal gl &6 ofi- it SftR am W gen &1 4fe gt i
H gAR gEie o1 feafd e § sedt 21 T 9 AFg S & G STenye HYEETd s g1 S |

At snfashrl ot aed i 4
(1) 29 = T gam 2

(2)  anfeer fasma o=t 9 g |

(3) wEr gfe o fadedt & e R
(4) HTS I SHEA SAHM & T E |

Options:-

=1, Option ID :- 401,
= 2, Option ID :- 402,
= 3, Option ID :- 403,

= 4, Option ID :- 404,
Answer Given:- 3, Option ID : -403

Question ID:- 102

Freafafiea iy &t Srgds TgeRt SHUT ST WY 6T eie ST S ;

A SRR IR F5q gU S & hera®y Wurarg Faifs gfta o fate & Feft 21
SYAR YA ST HA-FREH, TEh! IR G2a 3R Il =1 fadien Y17 ar gaferor = T, faier sik
froffa =1 w1 81 Fa-FraEr @ FEer a6 w9 & 31 A4 3R S # i 59 # agfie @i
S 9 18 €1 HE O S o W el i W uEd gU Sedel W it S e et fatred
91 9 g, e SR gt wefia € @ 8 1 seRa Sredt g8 o, Termted, Hiethnil $iR whedl 1 iR Fed
IHEAT G YR VIR, el ShIETHl oh I Rl AT Shal gl &6 ofi- it SftR am W gen &1 4fe gt i
H gAR gEie o1 feafd e § sedt 21 T 9 AFg S & G STenye HYEETd s g1 S |

Fretferfiaa o @ SF-1 dea w=few w1 ferier s+ @ § 2
(1) ISt AE1H el STed Hol-hIEH

(2) Eiea o fadien gat

(3) U2 | g 9 aranl o faden ger

(4) ST w4

Options:-
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=1, Option ID :- 405,
= 2, Option ID :- 406,
= 3, Option ID :- 407,

= 4, Option ID :- 408,
Answer Given:- 4, Option ID : -408

Question ID:- 103

Freafafiaa ey &t earYEe Ut SHUT oTTRE U9H T Teteh ST g

A1 enfererrl oIk sed gu siEnie % ey woErg Jeifes gft oir fade & =&l 2
AYAR 3T ST hel-FEEH, Gehi 3R Y2rar iR Eista o1 fatien g1 9 gt 1 v, faten o)
frsffa 51 @1 §1 Fa-sraEr 9§ e ae wa & 3 76T SR Sl # i 59 # ugfa @i
ST 51 T8 1 R 3 TR 3R A el i R W 5 el TR 3R S Frerer el forded
i 9 7, T S o) e B T R 1 s Sredt g e, Yo, iRt Sk w1 Friw aw
IS G R 9N, Fel-hREHl o IR R GAT Al gl BH -+ aftR s9n W gen &1 9 = i
Y g yaferrr = feafd s § aeaw S 7 | e Sfa g srenge gy fas 81 s )

e i TR SAM9E HaEAme faee g1 s 4fg
(1) iR g T |

(2) O HIEX Far | 7 TR

(3) wiEy i feafd o€ 9 S@a g
(4) S HI YEd W HAH A fean
Options:-

=1, Option ID :- 409,
= 2, Option ID :- 410,
= 3, Option ID :- 411,

= 4, Option ID :- 412,
Answer Given:- 3, Option ID : -411

Question ID:- 104
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Freafafiea iy St ey TgeRt SHUR ST W9 6T TEis ST S :

A MRl IR 55q g0 i & Ferasy qeErg Jaifs gt o fate & Tt &
IYER YA ST FHA-FREH, TEh! IR T2rat IR o =1 fadien ya17 ar gaferor =i s, faier sik
froffa =1 w1 81 Fa-FraEr @ FEer a6 w9 & 31 A4 3R S # i 59 # agfie @i
S 9 18 €1 HE O S o W el i W uEd gU Sedel W it S e et fatred
91 9 g, e SR gt wefia € @ 8 1 seRa Sredt g8 o, Termted, Hiethnil $iR whedl 1 iR Fed
IHEAT G YR VIR, el ShIETHl oh I Rl AT Shal gl &6 ofi- it SftR am W gen &1 4fe gt i
H gAR gEie o1 feafd e § sedt 21 T 9 AFg S & G STenye HYEETd s g1 S |

FHA-HEEMI o+ IR 1 AT il g7 Forgant 9K 39 -+ aftr s w22
(1) oTeRd Sredt g A

(2) vermieH

(3) HIETHRR SR T

(4) v gof

Options:-

=1, Option ID :- 413,

= 2, Option ID :- 414,

= 3, Option ID :- 415,

= 4, Option ID :- 416,
Answer Given:- 4, Option ID : -416

Question ID:- 105

Frerfeafam ey #it sngdes demt SAOT st wyR T wéie ST S

AR snfashRl @R sigd gu sieifiao & werasy wuErg gaifus gira iR faded & = &1
YR T A FHol-FHEH, Tk IR G2a IR <retet 1 fation ya1i gt wafer 1w, faden @ik
froifa &1 @1 81 Fa-wrEr 9 e 9 FEl & ol a1 SR S & i 59 # wgiim ok
SR T R B | FE ok - ol W Gell Y W wEd g0 Sela W ot 3 e at fatet
a1 9 g, aH @i fag) uefd € W § 1 e Sred ge o, Lermted, HethRl $iR whedl w1 e awd
SHEM g 9 YR, FA-FREM o YR i AT A 5 80 oi- i Ff) s W gen 1 Afg 5 fa
T 7R yaterwr s feafd 5T | Feat Bt T 9 WHa Siee ol \HE SIS 9T fae 21 S |

T ATl AR SRt w1 e Ster frger grr ferdier s o @ R 2
(1) el 9 =1 Yol gt 8

(2) TirEl @ TiEt et |

(3) FA-HREM 4 FFHad ol FA F e H

(4) R YEEUH

Options:-
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=1, Option ID :- 417,
= 2, Option ID :- 418,
= 3, Option ID :- 419,

= 4, Option ID :- 420,
Answer Given:- 3, Option ID : -419

Question ID:- 106

‘ST’ wIeg o1 yAEErEl T8 ©
(1)  fremer

(2) fAferEr

(3) TSR

(4) TR
Options:-

=1, Option ID :- 421,
= 2, Option ID :- 422,
= 3, Option ID :- 423,

= 4, Option ID :- 424,
Answer Given:- 4, Option ID : -424

Question ID:- 107

(1) rersaa
(2) HIerHE
(3) TEREE
(4) HEH
Options:-

=1, Option ID :- 425,
= 2, Option ID :- 426,
= 3, Option ID :- 427,

= 4, Option ID :- 428,
Answer Given:- 3, Option ID : -427

Question ID:- 108

https://kvsexam25feb23s1.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-2971-460b-9691-98a128654623&Rollno=220412603250... 59/103


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

3/7/23, 2:47 AM Response Sheet

frafafad sreg gl # Joaq-agya &1 ST5Td 97 ®

(1) 3T - 3T
(2) = - HH
(3) 31" - =
(4) &AM - 3"
Options:-

=1, Option ID :- 429,
= 2, Option ID :- 430,
= 3, Option ID :- 431,

= 4, Option ID :- 432,
Answer Given:- 4, Option ID : -432

Question ID:- 109

Frafafes faetmmedl see—grHi § e/ g
(1) =afe - gafe

(2 FAH - TN

(3) M - UAH

(4) &E - YA

Options:-

=1, Option ID :- 433,
= 2, Option ID :- 434,
« 3, Option ID :- 435,

= 4, Option ID :- 436,
Answer Given:- 4, Option ID : -436

Question ID:- 110

fardromn | da wrsdi § o7 ©
(1) el - fae™

(2) @g- @™

(3) Y - oyl

(4) T — e

Options:-

=1, Option ID :- 437,
= 2, Option ID :- 438,
= 3, Option ID :- 439,

https://kvsexam25feb23s1.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-2971-460b-9691-98a128654623&Rollno=220412603250...  60/103


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

3/7/23, 2:47 AM Response Sheet

= 4, Option ID :- 440,
Answer Given:- 4, Option ID : -440

Question ID:- 111

Trefafas | faa |y aren orsg 781 2
(1) e

(2) HEERL

(3) THERR

(4) @Afqus
Options:-

=1, Option ID :- 441,
= 2, Option ID :- 442,
= 3, Option ID :- 443,

= 4, Option ID :- 444,
Answer Given:- 4, Option ID : -444

Question ID:- 112

‘Tld @2 FE qerE & Helw A ¥

(1) o & 80 el

(2) IS W

(3) ST HHHE Bl
(4) TS F g
Options:-

«1, Option ID :- 445,
= 2, Option ID :- 446,
= 3, Option ID :- 447,

= 4, Option ID :- 448,
Answer Given:- 1, Option ID : -445

Question ID:- 113

"B Hi g 7S e A
(1) =W A

(2) e

(3) w@

(4 =Ed

Options:-
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=1, Option ID :- 449,
= 2, Option ID :- 450,
= 3, Option ID :- 451,

= 4, Option ID :- 452,
Answer Given:- 1, Option ID : -449

Question ID:- 114

Options:-

=1, Option ID :- 453,
= 2, Option ID :- 454,
= 3, Option ID :- 455,

= 4, Option ID :- 456,
Answer Given:- 3, Option ID : -455

Question ID:- 115

"t 1 ufeEn HET 6 MR W FaEy foh G 1 gHAaR 1 sHaer U Fii @ 2

(1) = IR a0

(2) =% =TT H

(3) e THHER & o1

(4) @@ AT 1 STHHe FHE W@ oA
Options:-

=1, Option ID :- 457,
= 2, Option ID :- 458,
« 3, Option ID :- 459,

= 4, Option ID :- 460,
Answer Given:- 1, Option ID : -457

Question ID:- 116
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ra genstt A1 sl A FHfaa & =i E
(1) BRF T TH

(2) Hrs fosrd

(3) HPHRIA

(4) THyR feg ‘et
Options:-

=1, Option ID :- 461,

= 2, Option ID :- 462,

= 3, Option ID :- 463,

= 4, Option ID :- 464,
Answer Given:- 3, Option ID : -463

Question ID:- 117

"R TS T & TEE ©
(1) THIEE e

(2) AR ARN

(3) ar

(4) |v= fomem
Options:-

=1, Option ID :- 465,
= 2, Option ID :- 466,
« 3, Option ID :- 467,

= 4, Option ID :- 468,
Answer Given:- 4, Option ID : -468

Question ID:- 118

‘HTe aret a7 § =ie IR-9R 3T H FE Y P SHIET 912

(1) ¥ =1 & o fag

(2) YRRA F & fag

(3) STFHI %I |1 & S o feg
(4) 3T =1 9N i & o
Options:-

=1, Option ID :- 469,
= 2, Option ID :- 470,
= 3, Option ID :- 471,
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= 4, Option ID :- 472,
Answer Given:- 3, Option ID : -471

Question ID:- 119

=" @ & [z, fofam
g H < ge-aea |’
T -l foh Teg-gs | ot i 2

(1) foEfEm-1
(2) fEfFm-2
(3) fHfEm-3
(4) TfEm - 4
Options:-

=1, Option ID :- 473,
= 2, Option ID :- 474,
= 3, Option ID :- 475,

= 4, Option ID :- 476,
Answer Given:- 4, Option ID : -476

Question ID:- 120

‘e A Wl Fedld’ A o SAIUR 9 FaiEy fh IR & = UM 9 SHE 92 ) g ?

(1) el = <@

(2) HIE] =l SEEL

(3) U S WS W H I

(4) Tl o T8I | WIS M9 &1 5 &
Options:-

=1, Option ID :- 477,
= 2, Option ID :- 478,
= 3, Option ID :- 479,

= 4, Option ID :- 480,
Answer Given:- 3, Option ID : -479

Subject : ENGLISH_Q121-Q140_PRT25FEBSH1

Question ID:- 121
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Read the passage given below and answer the questions that follow :

His mother, who died delivering him, and his father, who was killed in Mesopotamia, might
have been figures mn a legend as far as Sriram was concerned. He had, however, concrete evidence
of his mother in a framed photograph which for years hung too high on the wall for him to see;
when he grew tall enough to study the dim picture, he didn’t feel pleased with her appearance; he
wished she looked like that portrait of a European queen with apple cheeks and wavy hair hanging
in the little shop opposite his house, where he often went to buy peppermints with the daily money
given to him by his granny. Of his father, at least, there were recurring reminders. On the first of
every month, the postman brought a brown oblong cover, addressed to his granny. Invariably
Granny wept when the envelope came to her hand. It made his childish mind wonder what could
be there in that envelope to sting the tears out of her eyes. It was only years later he understood
that his granny had been receiving a military pension meant for him. When the envelope came,
she always remarked :'I don’t have to spend your pension in order to maintain you. God has left us
enough to live, * and took it to the fourth house in their row, which was known as the ‘Fund Office’
(what it meant, he never understood) and came back to say: There is nothing so fleeting as loose
cash. You can do what you like with it when you are old enough.’

Where did Sriram find evidence of his mother’s existence ?
(1) He found it in a photograph hung on a wall.
2 His relatives talked about her.

(2)
(3) He saw her in a dream.
(4) He remembered her as a child.

Options:-

=1, Option ID :- 481,
= 2, Option ID :- 482,
= 3, Option ID :- 483,

« 4, Option ID :- 484,
Answer Given:- 1, Option ID : -481

Question ID:- 122
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Read the passage given below and answer the questions that follow :

His mother, who died delivering him, and his father, who was killed in Mesopotamia, might
have been figures mn a legend as far as Sriram was concerned. He had, however, concrete evidence
of his mother in a framed photograph which for years hung too high on the wall for him to see;
when he grew tall enough to study the dim picture, he didn’t feel pleased with her appearance; he
wished she looked like that portrait of a European queen with apple cheeks and wavy hair hanging
in the little shop opposite his house, where he often went to buy peppermints with the daily money
given to him by his granny. Of his father, at least, there were recurring reminders. On the first of
every month, the postman brought a brown oblong cover, addressed to his granny. Invariably
Granny wept when the envelope came to her hand. It made his childish mind wonder what could
be there in that envelope to sting the tears out of her eyes. It was only years later he understood
that his granny had been receiving a military pension meant for him. When the envelope came,
she always remarked :'I don’t have to spend your pension in order to maintain you. God has left us
enough to live, * and took it to the fourth house in their row, which was known as the ‘Fund Office’
(what it meant, he never understood) and came back to say: There is nothing so fleeting as loose
cash. You can do what you like with it when you are old enough.’

Why didn’t Sriram like her mother’s appearance ?

(1) Because she was too dark

(2) Because she lacked motherly kindness and affection
(3) Because she didn’t look like a pretty European queen
(4)

4 Because she was different from what he had visualised

Options:-

=1, Option ID :- 485,
« 2, Option ID :- 486,
= 3, Option ID :- 487,

= 4, Option ID :- 488,
Answer Given:- 3, Option ID : -487

Question ID:- 123
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Read the passage given below and answer the questions that follow :

His mother, who died delivering him, and his father, who was killed in Mesopotamia, might
have been figures mn a legend as far as Sriram was concerned. He had, however, concrete evidence
of his mother in a framed photograph which for years hung too high on the wall for him to see;
when he grew tall enough to study the dim picture, he didn’t feel pleased with her appearance; he
wished she looked like that portrait of a European queen with apple cheeks and wavy hair hanging
in the little shop opposite his house, where he often went to buy peppermints with the daily money
given to him by his granny. Of his father, at least, there were recurring reminders. On the first of
every month, the postman brought a brown oblong cover, addressed to his granny. Invariably
Granny wept when the envelope came to her hand. It made his childish mind wonder what could
be there in that envelope to sting the tears out of her eyes. It was only years later he understood
that his granny had been receiving a military pension meant for him. When the envelope came,
she always remarked :'I don’t have to spend your pension in order to maintain you. God has left us
enough to live, * and took it to the fourth house in their row, which was known as the ‘Fund Office’
(what it meant, he never understood) and came back to say: There is nothing so fleeting as loose
cash. You can do what you like with it when you are old enough.’

What was contained in the envelope the postman brought for granny ?
(1) A handwritten note

(2) Monthly pension

(3) A bunch of flowers

(4) A handful of stamps

Options:-

=1, Option ID :- 489,
« 2, Option ID :- 490,
= 3, Option ID :- 491,

= 4, Option ID :- 492,
Answer Given:- 2, Option ID : -490

Question ID:- 124
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Read the passage given below and answer the questions that follow :

His mother, who died delivering him, and his father, who was killed in Mesopotamia, might
have been figures mn a legend as far as Sriram was concerned. He had, however, concrete evidence
of his mother in a framed photograph which for years hung too high on the wall for him to see;
when he grew tall enough to study the dim picture, he didn’t feel pleased with her appearance; he
wished she looked like that portrait of a European queen with apple cheeks and wavy hair hanging
in the little shop opposite his house, where he often went to buy peppermints with the daily money
given to him by his granny. Of his father, at least, there were recurring reminders. On the first of
every month, the postman brought a brown oblong cover, addressed to his granny. Invariably
Granny wept when the envelope came to her hand. It made his childish mind wonder what could
be there in that envelope to sting the tears out of her eyes. It was only years later he understood
that his granny had been receiving a military pension meant for him. When the envelope came,
she always remarked :'I don’t have to spend your pension in order to maintain you. God has left us
enough to live, * and took it to the fourth house in their row, which was known as the ‘Fund Office’
(what it meant, he never understood) and came back to say: There is nothing so fleeting as loose
cash. You can do what you like with it when you are old enough.’

What do you mean by ‘oblong’ ?
(1) square

(2) triangular

(3) round

(4) rectangular
Options:-

«1, Option ID :- 493,
« 2, Option ID :- 494,
= 3, Option ID :- 495,

= 4, Option ID :- 496,
Answer Given:- 4, Option ID : -496

Question ID:- 125
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Read the passage given below and answer the questions that follow :

His mother, who died delivering him, and his father, who was killed in Mesopotamia, might
have been figures mn a legend as far as Sriram was concerned. He had, however, concrete evidence
of his mother in a framed photograph which for years hung too high on the wall for him to see;
when he grew tall enough to study the dim picture, he didn’t feel pleased with her appearance; he
wished she looked like that portrait of a European queen with apple cheeks and wavy hair hanging
in the little shop opposite his house, where he often went to buy peppermints with the daily money
given to him by his granny. Of his father, at least, there were recurring reminders. On the first of
every month, the postman brought a brown oblong cover, addressed to his granny. Invariably
Granny wept when the envelope came to her hand. It made his childish mind wonder what could
be there in that envelope to sting the tears out of her eyes. It was only years later he understood
that his granny had been receiving a military pension meant for him. When the envelope came,
she always remarked :'I don’t have to spend your pension in order to maintain you. God has left us
enough to live, * and took it to the fourth house in their row, which was known as the ‘Fund Office’
(what it meant, he never understood) and came back to say: There is nothing so fleeting as loose
cash. You can do what you like with it when you are old enough.”

What did granny do with the money she received ?
(1) She spent it on household needs.

(2) She deposited it in the Post-office.

(3) She handed it over to the narrator.

(4) She kept it safely at home.

Options:-

=1, Option ID :- 497,
« 2, Option ID :- 498,
= 3, Option ID :- 499,

« 4, Option ID :- 500,
Answer Given:- 2, Option ID : -498
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Question ID:- 126

Rearrange the part in correct order to make meaningful sentence.

(a) English continues to play

(b) of the country,

(¢) in the linguistic environment
(d) an important role

(D (d) (© (b) (a)

(2 (¢) (b) () (d)

(3) (9 () (b) ()

(4 (@ (b) (o) (d)

Options:-

=1, Option ID :- 501,
= 2, Option ID :- 502,
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= 3, Option ID :- 503,

= 4, Option ID :- 504,
Answer Given:- 2, Option ID : -502
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Question ID:- 127

d) politeness
() (¢) (d) (b)
( d)
(d) (c
(

(1)

(2 (b)

(3)

4 (9
Options:-

(a) that we must
(b) cultivate
(¢) 1isa virtue

)
)

=1, Option ID :- 505,
= 2, Option ID :- 506,
= 3, Option ID :- 507,

= 4, Option ID :- 508,
Answer Given:- 3, Option ID : -507

Rearrange the part in correct order to make meaningful sentence.

(1) of
2

4

Options:-

Question ID:- 128

(2) from
(3) with
(4) for

Fill in the blank with correct preposition.
On hearing the good news, he was beside himself

«1, Option ID :- 509,
= 2, Option ID :- 510,
= 3, Option ID :- 511,

= 4, Option ID :- 512,
Answer Given:- 3, Option ID : -511

joy.

Question ID:- 129
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Fill in the blank with correct preposition.

In reading, I prefer fiction poetry.
(1) for

(2) from

(3) than

(4) to

Options:-

=1, Option ID :- 513,
= 2, Option ID :- 514,
= 3, Option ID :- 515,

= 4, Option ID :- 516,
Answer Given:- 3, Option ID : -515

Question ID:- 130

Identify the correct tense form for the underlined expression in the given sentence.

The entire family will be leaving for the US next month.

(1) Future Tense

(2) Future Continuous Tense

(3) Present Continuous Tense

(4) Future Perfect Continuous Tense
Options:-

=1, Option ID :- 517,
= 2, Option ID :- 518,
« 3, Option ID :- 519,

= 4, Option ID :- 520,
Answer Given:- 4, Option ID : -520

Question ID:- 131

Identify the correct tense form for the underlined expression in the given sentence.

He had finished writing the essay when I met him.

(1) Simple Past Tense

(2) Past Perfect Tense

(3) Present Perfect Tense

(4) Present Continuous Tense

Options:-

=1, Option ID :- 521,
= 2, Option ID :- 522,
= 3, Option ID :- 523,
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= 4, Option ID :- 524,
Answer Given:- 2, Option ID : -522

Question ID:- 132

Identify the part which contain an error.
Neither Ram / nor Mohan / were present / in the class.

(1) (2) (3) (4)

Options:-

=1, Option ID :- 525,
= 2, Option ID :- 526,
= 3, Option ID :- 527,

= 4, Option ID :- 528,
Answer Given:- 3, Option ID : -527

Question ID:- 133

Identify the part which contain an error.
He had hardly/ recovered from cold / than he had / a stomach ache.

(1) (2) () (4)

Options:-

=1, Option ID :- 529,
= 2, Option ID :- 530,
= 3, Option ID :- 531,

= 4, Option ID :- 532,
Answer Given:- 3, Option ID : -531

Question ID:- 134

Choose the word nearest in meaning to the given word.

DEFICIENT
(1) lazy
(2) feeble
(3) inadequate
(4) mistaken
Options:-

=1, Option ID :- 533,
= 2, Option ID :- 534,
= 3, Option ID :- 535,

= 4, Option ID :- 536,
Answer Given:- 3, Option ID : -535

Question ID:- 135
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Choose the word nearest in meaning to the given word.

AVERSE
(1) indifferent
(2) unwilling
(3) angry
(4) jealous
Options:-

=1, Option ID :- 537,
= 2, Option ID :- 538,
= 3, Option ID :- 539,

= 4, Option ID :- 540,
Answer Given:- 3, Option ID : -539

Question ID:- 136

Choose the word opposite in meaning to the given word.

LABORIOUS
(1) hostile
(2) weak
(3) indifferent
(4) lazy
Options:-

=1, Option ID :- 541,
= 2, Option ID :- 542,
= 3, Option ID :- 543,

= 4, Option ID :- 544,
Answer Given:- 4, Option ID : -544

Question ID:- 137

Choose the word opposite in meaning to the given word.

MANIFEST
(1) fuzzy
(2) dark
(3) hidden
(4) sinister
Options:-

=1, Option ID :- 545,
= 2, Option ID :- 546,
= 3, Option ID :- 547,
= 4, Option ID :- 548,
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Answer Given:- 1, Option ID : -545

Question ID:- 138

Identify the part of speech of the underlined word.

What! Have you lost your mobile again ?

(1) Conjuction
(2) Interjection
(3) Preposition
(4) Adverb
Options:-

=1, Option ID :- 549,
= 2, Option ID :- 550,
= 3, Option ID :- 551,

= 4, Option ID :- 552,
Answer Given:- 3, Option ID : -551

Question ID:- 139

Change the following sentence from Active Voice to Passive Voice.
The landlord evicted the tenant from the house.

(1) The tenant has been evicted from the house by the landlord.
(2) From the house the tenant was evicted by the landlord.

(3) The tenant was evicted from the house by the landlord.

(4) The tenant is being evicted from the house by the landlord.

Options:-

=1, Option ID :- 553,
= 2, Option ID :- 554,
= 3, Option ID :- 555,

= 4, Option ID :- 556,
Answer Given:- 3, Option ID : -555

Question ID:- 140

Identify the clause of the underlined part in the given sentence.

What he has reported from the ground is false and mischievous.

(1) Noun Clause

(2) Adjective Clause

(3) Adverb Clause

(4) Principal Clause
Options:-

=1, Option ID :- 557,
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= 2, Option ID :- 558,
= 3, Option ID :- 559,

= 4, Option ID :- 560,
Answer Given:- 1, Option ID : -557

Subject : MATHS_Q141-Q160_PRT25FEBSH1

Question ID:- 141

Which of the following statements is false ?

(1) Two acute angles having same vertex can make a straight line.

(2) One acute angle and one obtuse angle having same vertex can make a reflex angle.
(3) Two acute angles having same vertex can make a right angle.
(4)

4 Two obtuse angles having same vertex can make a reflex angle.

frefafad weuEl § 9 F-3 7o 872

(1) & = o fomee v o 2, T T e o9 e

(2) U = H AR s stk Hior i o wEE € ue widerd! i s ged §
(3) @ = I TSR S HHH 8, Teh HHHI S Hehel © |

(4) 2 sifeer o fomert ¥ wmM 8, U ufaad] i & |ead 2

Options:-

=1, Option ID :- 561,
= 2, Option ID :- 562,
= 3, Option ID :- 563,

= 4, Option ID :- 564,
Answer Given:- 1, Option ID : -561

Question ID:- 142

The volume of a cube whose edge is 6 m is times the volume of a cuboid of dimensions
36 mx30 mx24 m.

(1) 60

(2) 120

(3) 90

(4) 80
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TF 6 m fohI o161 B9 1 3730, 36 mx 30 mX 24 m M = 5919 o AT 6 T
gl
(1) 60
2) 120
3) 90
(4) 80
Options:-

=1, Option ID :- 565,
= 2, Option ID :- 566,
= 3, Option ID :- 567,

= 4, Option ID :- 568,
Answer Given:- 2, Option ID : -566

Question ID:- 143

Length of a park is 835 m and breadth is 234 m. Sujata takes 3 rounds of the park. Distance
covered by heris:

(1) 6044 m

(2) 3 km 2138 m
(3) 3207 m

(4) 6km 414 m

T T 1 TaTE 835 m ST IS 234 m ¥ | GG 36 Uk o 3 FeL o © | S9F g 99 i TE g ¥

(1) 6044 m

(2) 3 km2138 m
(3) 3207 m

(4) 6 km 414 m
Options:-

«1, Option ID :- 569,
= 2, Option ID :- 570,
= 3, Option ID :- 571,

= 4, Option ID :- 572,
Answer Given:- 4, Option ID : -572

Question ID:- 144
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Forty million forty thousand forty is :
(1) 400 4000 40

(2) 40 400 40

(3) 400 400 40

(4) 40 4000 40

ety fafem =iy sor =y 2
(1) 400 4000 40

(2) 40 400 40

(3) 400 400 40

(4) 40 4000 40
Options:-

=1, Option ID :- 573,
= 2, Option ID :- 574,
= 3, Option ID :- 575,

= 4, Option ID :- 576,
Answer Given:- 3, Option ID : -575

Response Sheet

GET IT ON
Google Play

Question ID:- 145

(1) 100999
(2) 100090
(3) 100099
(4) 100009

(1) 100999
(2) 1 00090
(3) 100099
(4) 100009
Options:-

=1, Option ID :- 577,
= 2, Option ID :- 578,
= 3, Option ID :- 579,
= 4, Option ID :- 580,

On adding 10 to the largest five digit number, you will get :

Uk UTY ST arell Te FSl &I H 10 T SIS W U 8
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Answer Given:- 4, Option ID : -580

Question ID:- 146

A leap year has :

(1) 52 weeks 1 day
(2) 52 weeks 2 days
(3) 52 weeks 3 days
(4)

4 52 weeks 4 days

T A oY | g6 ©
(1) 52 9wE 1 feT
(2) 52 HwrE 2 feT
(3) 52 ®we 3 fe&
(4) 52 gwmE 4 fe
Options:-

=1, Option ID :- 581,
= 2, Option ID :- 582,
= 3, Option ID :- 583,

= 4, Option ID :- 584,
Answer Given:- 2, Option ID : -582

Question ID:- 147

The number of squares in the given figure are :

(1) 8
2 10
3) 9
4 7
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few o fag § 9+t dEn
) 8
(2) 10
(3 9
4 7
Options:-

=1, Option ID :- 585,
= 2, Option ID :- 586,
= 3, Option ID :- 587,

= 4, Option ID :- 588,
Answer Given:- 3, Option ID : -587

Question ID:- 148

Which of the following statements is wrong ?

5y 10 _ 100
(%) 1 11
i 3> 7
(4) 8§ 12
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e e 8 9 -9 w99 o @ 2

(_) 9 9
5 10_ 100
(3) 11 110
B o
(4) 8 12
Options:-

=1, Option ID :- 589,
= 2, Option ID :- 590,
= 3, Option ID :- 591,

= 4, Option ID :- 592,
Answer Given:- 4, Option ID : -592

Question ID:- 149

John went to market with Rs 500. He purchased 8 pens for Rs 19.18 each, 3 markers for Rs 2441
each and 4 rubbers for Rs 4.36 each. Amount left with him (in Rupees) is :

(1) 255.89
(2) 256.11
(3) 255.99
(4) 253.89

S T 500 TR BISTR 7411 384 T19.18 i & H 8 U ; 3 HIehY, T 24.41 Tl &1 H IR 4 TS T 4.36 &l
H &l | 3TF IE 9 i (F9EH) T

(1) 255,89
(2) 256.11
(3) 255.99
(4) 253.89
Options:-

=1, Option ID :- 593,
= 2, Option ID :- 594,
« 3, Option ID :- 595,

= 4, Option ID :- 596,
Answer Given:- 3, Option ID : -595

Question ID:- 150
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Choose the odd one out

(D)

Options:-

=1, Option ID :- 597,
= 2, Option ID :- 598,
« 3, Option ID :- 599,

= 4, Option ID :- 600,
Answer Given:- 3, Option ID : -599

Question ID:- 151
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Which of the following statements is wrong ?
(1) Cone has one vertex

(2) Cylinder has two circular edges
(3) Sphere has no edge
(4) Cuboid has eight edges

e el § | T e 2
(1) ¥ig 1 e ¥ &

(2) e % g AR fHR F €
(3) il =1 IS R &I B B |
(4) =AY 7S R B €
Options:-

«1, Option ID :- 601,
= 2, Option ID :- 602,
= 3, Option ID :- 603,

= 4, Option ID :- 604,
Answer Given:- 4, Option ID : -604

Question ID:- 152

An electrician bought 500 m of wire. He sold 43 m 75 cm of the wire to one customer and
158 m 50 em to another customer. Wire left with him is :
(1) 298.25 m

(2) 29820 m
(3) 297.75 m
(4) 298.425 m

Ueh Beila2 ¥ 9 500 m R @al | 389 T U1 1 43 m 75 cm SR THL AESF i 158 m 50 cm TR 4] |

3HH I I AN T
(1) 29825 m
(2) 298.20 m

(3) 297.75 m
(4) 298425 m
Options:-

=1, Option ID :- 605,
= 2, Option ID :- 606,
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= 3, Option ID :- 607,

= 4, Option ID :- 608,
Answer Given:- 3, Option ID : -607

Question ID:- 153

A leaking tap drips at the rate of 150 mL per hour. Water wasted in a day will be :
(1) 280L
(2) 3.00 L
(3) B3.06 L
(4) 3.60 L

T GO (Ffe) 96 9 9T 150 mL 9fd 52 &1 & 9 29% W@ ¢ | U foq d =94 gt §

(1) 280L
(2) B3.00L
(3) 3.06 L
(4) 3.60L

Options:-

=1, Option ID :- 609,
= 2, Option ID :- 610,
= 3, Option ID :- 611,

= 4, Option ID :- 612,
Answer Given:- 4, Option ID : -612

Question ID:- 154

Which least number should be added to 10100, so that the sum is exactly divisible by 49 ?

(1) 41
(2) 46
(3) 43
(4) 28

10100 ¥ HF-H Fod S Ten S S, & Frmee 49 3 qoiaa fasfad g s 2

(1) 41
(2) 46
(3) 43
(4) 28

Options:-
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Response Sheet

GET IT ON
Google Play

=1, Option ID :- 613,
= 2, Option ID :- 614,
= 3, Option ID :- 615,

= 4, Option ID :- 616,
Answer Given:- 3, Option ID : -615

Question ID:- 155

Observe the pattern given below and choose the missing number from the options.

4 |18 | 12 5 (24| 15 7 |33 | 20 6 [ 29 | 18

©, O © O

(1 3
2) 5
(3) 8
4 7

A4 feu Ye = Gam FfSe @R feu 7o faeedl # 4 fagqa den 1 ghu)

4 |18 | 12 5 | 24 15 7 | 33 20 6 | 29 18

© © ® O

(1 3
(2) 5
(3) 8
4 7
Options:-

=1, Option ID :- 617,
= 2, Option ID :- 618,
« 3, Option ID :- 619,

= 4, Option ID :- 620,
Answer Given:- 2, Option ID : -618

Question ID:- 156
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The weight of five tables in a shop are 9.8 kg, 1242 kg, 25.38 kg, 4.426 kg and 32.388 kg. Shop
keeper got one more table and now total weight is 100 kg. The weight of new table is :

(1) 15.566 kg

(2) 15.688 kg
(3) 15.568 kg
(4) 15.586 kg

T gHA § 9 BN % R 9.8 kg, 12.42 kg, 25.38 kg, 4426 kg 3 32.388 kg € | IHMER A Teh 3K H
@ ol Si 878 A YR 100 kg B T T U F IR L
(1) 15566 kg

(2) 15.688 kg
(3) 15.568 kg
(4_-) 15.586 kg
Options:-

=1, Option ID :- 621,
= 2, Option ID :- 622,
= 3, Option ID :- 623,

= 4, Option ID :- 624,
Answer Given:- 4, Option ID : -624

Question ID:- 157

Arrange the following measurements mm, dm, km, hm and cm in decreasing order :
(1) hm, dm, km, mm, cm
(2) km, hm, dm, cm, mm
(3) km, dm, hm, cm, mm
(4) mm, cm, dm, hm, km

ﬁﬂﬁf@ﬂﬁnm,me,lmﬁImaﬁmWﬁmml
(1) hm, dm, km, mm, cm

(2) km, hm, dm, cm, mm
(3) km, dm, hm, cm, mm
(4) mm, cm, dm, hm, km

Options:-

«1, Option ID :- 625,
= 2, Option ID :- 626,
= 3, Option ID :- 627,

= 4, Option ID :- 628,
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Answer Given:- 2, Option ID : -626

Response Sheet

GET IT ON
Google Play

Question ID:- 158

(1) CCLIV
(2) CCL VI
(3) CLLIV
(4) CLL VI

(1) CCL 1V
(2) CCL VI
3) CLL IV
(4) CLL VI
Options:-

=1, Option ID :- 629,
= 2, Option ID :- 630,
= 3, Option ID :- 631,
= 4, Option ID :- 632,

e 3T H, CVITT+ CXLVI &l °9F & :

Answer Given:- 1, Option ID : -629

In Roman numerals, value of CVIII + CXLVI is equal to :

Question ID:- 159

Marks of two students, Simi and Shally in a unit test (out of 50) are given below :

Subject Marks of Simi | Marks of Shally
English 30 35
Hindi 45 42
Mathematics 48 50
Science 38 38
Social Science 25 40

2

4

Average of Simi’s marks = 37.2.

Based on this table, which of the following statements is wrong ?

(1) Difference of their aggregate marks is 19.

(2
(3) Difference of highest & lowest marks of both are equal.
(4) Both have scored highest in Mathematics.
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Response Sheet

TS Ueheh Lia # 1 wEned, ot 3 9ot & o (509 9) = Ruu g .

oo fadt & oi 9ol ok 3R
SIS 30 35
et 45 42
o 48 50
fasm 38 38
AT famr 25 40

Options:-
=1, Option ID :- 633,
« 2, Option ID :- 634,
= 3, Option ID :- 635,

= 4, Option ID :- 636,
Answer Given:- 3, Option ID : -635

29 AIfera & YR 92 Fre § 9 SF-91 e @ 2
(1) 3ok ki o el TN H] HaL 19 B

2) fait ¥ oimg &% =37.2 %1
) 3 S % saferey SR AT ST T Si FEE T
4) TFEl % T H I=AH ST ©

GET IT ON
Google Play

Question ID:- 160

Some statements are given :
a) Equilateral triangle has 3 lines of symmetry.

b) Circle has 2 lines of symmetry.

e) Letter A has one line of symmetry.

4)  Only (¢) is wrong.

(
(
(c) An isosceles triangle has two lines of symmetry.
(d) A rectangle has two lines of symmetry.

(

Which of the following option correctly describes all the above ?
(1) (a), (c), (d), (e) are correct and (b) is wrong.
(2) (a), (d), (e) are correct and (b), (c) are wrong,.
(3) (a), (b), (e) are correct and (c), (d) are wrong.
(

https://kvsexam25feb23s1.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-2971-460b-9691-98a128654623&Rollno=220412603250... 87/103


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

3/7/23, 2:47 AM Response Sheet

EEEREELELE I

(a) THETE s = o7 gafid v g ¥
(b) UF g i < wufd e g g

(c) uF wufgarg s 1 & Huftd Tard 2t &
(d) T T S gl T et ¥

(e) & A F! U HHtd @ T

e fasredl & & -1 39 Wit 1 92 ©Y 9 SR HA © 2
1) (), (c) (d), () &l € T (b) TeTa &

) (a), (d), () T § T (b), (c) T

3)  (a), (b), () WA T W (0), (d) eI &1

4)  HAA () T B

Options:-

=1, Option ID :- 637,
= 2, Option ID :- 638,
= 3, Option ID :- 639,

= 4, Option ID :- 640,
Answer Given:- 2, Option ID : -638

Subject : EVS_Q161-Q180_PRT25FEBSH1

Question ID:- 161

Given below are two statements. One of them is labelled as Assertion (A) and the other as Reason
(R). Choose the correct answer with the help of code given below :

Assertion (A): Carbon Dioxide (CO,) is the best extinguisher for fire involving electrical
equipments and inflammable materials like petrol.

Reason (R) : CO, being heavier than oxygen, covers the fire like a blanket which cuts off the
contact between fuel and oxygen, hence the fire is controlled.

(1) (A) and (R) both are true and (R) is the correct explanation of (A).

(2) (A) and (R) both are true but (R) is not the correct explanation of (A).

(3) (A) is true but (R) is false.

(4) (A) is false but (R) is true.
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= 2 ae fau U E | U 1 MR YA (A) 3R SHY 1 @IRUT (R ) @ T ¢ | Hre f3U T e wl werEa
T TE ST H T HL |

AfUwAT (A) : T Susw iR U2 S seerRitel verel # Tl S o for e SEsiEEEs (CO,)
o] 37531 A B

WAUT(R): SRS o Wi 81 % SR CO, 301 %1 FHHae i 08 T ol ¢ 1 389 69 3R
STTRITST o STl WPTeh 22 I €, 37d: TP IR Fodsmn €1 < €1

(1) (A) 3R (R) 3T =& &, 3R (R), (A) F1 FE =R w5 2|

(2) (A) SR (R) SFT T ¥, T (R), (A) F T SIS T HA T

(3) (A) & &, W (R) T &1

(4) (A) T E W (R) WA

Options:-

=1, Option ID :- 641,
= 2, Option ID :- 642,
= 3, Option ID :- 643,

= 4, Option ID :- 644,
Answer Given:- 1, Option ID : -641

Question ID:- 162

There are some plastics which when moulded once, can not be softened by heating.
These plastic are called :
(1) Thermosetting plastic

(2) Thermoplastic
(3) Rayon plastic
(4) Nylon plastic

FD @feF TF € 9% v ar 9§ o foun san & @ 3% oo ga T e fomen s wehan | T wnfes
FEA ©

(1)  oHEfeT wfes

(2) oHERRES

(3) WA wfe®

(4) TEAA wiEEw
Options:-

=1, Option ID :- 645,
= 2, Option ID :- 646,
= 3, Option ID :- 647,
= 4, Option ID :- 648,
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Answer Given:- 1, Option ID : -645

Question ID:- 163

Think about the following statements and choose the correct answer with the help of given code :

(A) Food products infected by microorganisms can be poisonous.

(B) Fungi can attack on the bread left in bright sunlight.

(C) Bacteria can live in oil and vinegar that is why it is used for preventing the spoilage of
pickles.

(D) Meat and fish are covered with dry salt to check the growth of bacteria.

Code :

(1) only (A) and (B)
(2) only (B) and (C)
(3) only (A) and (C)
(4) only (A) and (D)

Frafafed saaedl W faar #1 @R %2 i Ferda § 98 3T H F999 H |

(A) FeAsial g Hefva sie 4 @ foumEd & e 2

(B) O YU H T S W FHIF AGHAY FL d g

(C) et wel fawer H Sfrany] Siifad @ Hehd € SHICT ST SYANT ST=N =l Heuv ¥ == < foq o= s
gl

(D) itam i gig T & fau 7im a1 el ol 9@ 79 § & od @ |
e :

(1) & (A) ¥R (B)

(2) e (B) 3R (Q)

(3) had (A) 3R (C)

(4) HFA (A) 3R (D)

Options:-

=1, Option ID :- 649,
« 2, Option ID :- 650,
« 3, Option ID :- 651,

= 4, Option ID :- 652,
Answer Given:- 4, Option ID : -652

Question ID:- 164
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Match the following :

Person Discovery/ Invention
(i)  Louis Pasteur (a) discovered the vaccine of small pox
(ii) Alexander Fleming (b) discovered fermentation
(i) Edward Jenner (c) discovered Penicillin
(iv) Robert Koch (d) discovered Bacterium namely Bacillus Anthracis
Code :
(1) (@)-@) (D)-O), G)-(c), (v)-(d)
(2)  ([@-(@), ({@)-(c), (ii)-(b), (iv)-(d)
(3 @-(0) ()-(c) (@)-(), (v)-(d)
@) ([®)-0), ()-(@) [)-(c), (iv)-(d)
Freferfes =1 faerm =)
=t T
(i) T8 AR (a) ==k % 2Ih ki @Sl
(ii) STeTEIST TATHT (b) Tehvam =i @
(iii) TSHS S (c) UFfgfer &1 @l
(iv) T g (d) oo ey A Star i @rst
(1) (i)a), Gi)y-(b), (ii)(0), (v)-(d)
@) ()a), Gi)-(), (iii)-(b), (iv)-(d)
(B)  (B)b), (i)(0), (iii)-(@), (v)-(d)
(@) ()-b), (ii)-(a), (i), (iv)-(d)
Options:-

«1, Option ID :- 653,
= 2, Option ID :- 654,
= 3, Option ID :- 655,

= 4, Option ID :- 656,
Answer Given:- 3, Option ID : -655

Question ID:- 165
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Given below are two statements. One of them is labelled as Assertion (A) and the other as Reason(R).
Choose the correct answer with the help of code given below :

Assertion (A) : All living beings need water to live.

Reason (R) : Water is essential because germination of seeds does not take place under dry
conditions

(1)  (A) and (R) both are true and (R) is the correct explanation of (A).

(2) (A) and (R) both are true but (R) is not the correct explanation of (A).

(3) (A) is true but (R) is false.

(4) (A) is false but (R) is true.

9 &1 gaaey fau o E ) v i ifieRe (A) 3R g5 ) SIOT (R) FEl T ¥ A9 R T e w5 weme
H Hel I H =TI H

ATYHYA (A) :  Siifad @ & TaT gk ST ol Sl bl Akl aidl 2 |
T (R) : Sl STTEve € FFifeh sirsii o1 STpao gk fearfa & 81 & wepan |
(1) (A) 3 (R) TFI T&T & IR (R), (A) I T&l e & |

(2) (A) 3R (R) 31 T €, T (R), (A) FI Fel AT T HA & |

(3) (A) §@ &, T (R) 7T 2

(4) (A) 7eTd € 9 (R) Hel 7

2

Options:-

=1, Option ID :- 657,
= 2, Option ID :- 658,
« 3, Option ID :- 659,

= 4, Option ID :- 660,
Answer Given:- 2, Option ID : -658

Question ID:- 166

Think about following statements and choose the correct answer with the help of given code :
(A) When plants of the same kind are cultivated at one place on a large scale, it is called crop.
(B) Crop of wheat means that all the plants grown in the field are that of wheat.

(C) Crops which are sown in rainy season are called Rabi crops.

(D) Crops which are sown in winter season are called Kharif crops.

Code :

(1) Only (A) and (B

(2) (

(3) Only (A), (B) an
(4) (
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FrefafEd weaal © fa=r 3R F= fou 7 % = 9@ § 98l 3T & 999 i
(A) & TF & o 9 frdl Tm W 9 e W I 9K E, O 39 Ee FEd 8
(B) g i wHel o121 ¥ fh @a F 3e i aret vt i g F ¥

(C) =% W fore ol g § = S &, T et el ¢ |

(D) 3 35g # TR ST S wiel @U% el heardl ¢ |

e :

(1) = (A) ¥R (B)
(2) 9 (A), (B) 3 (O)
(3) I (A), (B) 3R (D)
(4) aa (C) ¥R (D)
Options:-

«1, Option ID :- 661,
« 2, Option ID :- 662,
= 3, Option ID :- 663,

= 4, Option ID :- 664,
Answer Given:- 2, Option ID : -662

Question ID:- 167

Which of the following is true about arteries ?

(1) It carries oxygen rich blood.

(2) Itcarries blood from all parts of body to the heart.
(3) Blood flows in low pressure in them.

(4) It has thin walls.

e o - wue yafE % gei F we § 2
(1) e ST T9g T i il © |

(2) ¥% T 1 IR 6 & 9FT 9 784 I @l ¢ |
(3) 3HH TR HH S & HY W ¢ |

(4) g fufei yael 2t €

Options:-

=1, Option ID :- 665,
« 2, Option ID :- 666,
= 3, Option ID :- 667,

= 4, Option ID :- 668,
Answer Given:- 1, Option ID : -665
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Question ID:- 168

(A) By feeling strong winds
(B) By observing low power waves in the oceans
(C) By observing dry weather.

(1) (A) and (B)
(2) (B)and (C)
(3) (A)and (C)
(4 Only (A)

gl & o 319 Tgg fRR @d €1 A R H e i o Fshar o Wi e ?
(A) S a3l P TRgH Fh

(B) =hH T =eil HHET 96 i Gt

(C) I HEH H SEH

(1) (A) ¥ (B)
(2) (B) #R (O
(3) (A) 3R (Q)
(4) FaA (A)
Options:-

=1, Option ID :- 669,
= 2, Option ID :- 670,
= 3, Option ID :- 671,

= 4, Option ID :- 672,
Answer Given:- 3, Option ID : -671

Suppose you are staying near the sea-shore. How will you know that a cyclone is approaching ?

Question ID:- 169

Reason (R). Choose the correct answer with the help of code given below :
Assertion (A) : Polar bears have single layer of thick fur.

Reason (R) : The fur of polar bears protect them from extreme cold.

(1) (A) and (R) both are true and (R) is the correct explanation of (A).
(2) (A) and (R) both are true but (R) is not the correct explanation of (A).
(3) (A) is true but (R) is false.

(4) (A) is false but (R) is true.
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9 &1 gaey fau o E ) us i ifieRe (A) 3T 5 ) SIOT (R) FEl T E | A9 R T e w5 weme
T HE S FH T HL

MR (A) :  YF W F VIR W A BI U HE W 2 E
T (R) : YA 4T] % @lcl 3¢ el i 58 H I 2 |
(1) (A) 3R (R) a1 & & i (R), (A) T T = &% &

(2) (A) IR (R) S T § WY (R), (A) F G AT T B B |
(3) (A) §&l §, W (R) e &1
(4) (A) eTd & 9 (R) Tel ¥

Options:-

=1, Option ID :- 673,
= 2, Option ID :- 674,
= 3, Option ID :- 675,

= 4, Option ID :- 676,
Answer Given:- 1, Option ID : -673

Question ID:- 170

Choose the odd one out :

(1) Tongue
(2) Palate
(3) Gums
(4) Teeth
ﬁmﬂﬂe{ :

(1) =y

(2) g

(3) "
(4) =fa
Options:-

=1, Option ID :- 677,
= 2, Option ID :- 678,
= 3, Option ID :- 679,

= 4, Option ID :- 680,
Answer Given:- 2, Option ID : -678

Question ID:- 171
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I stay in forest area of a state where everyone has the right over the farming land, but who will be
given how much land for farming is decided by drawing lottery. I live in which State?

(1) Chattisgarh

(2) Jharkhand
(3) Uttarakhand
(4) Mizoram

H u T T % S £ TEan/Aed § Sl WSt A i W e sfvemn § w f e s e
% foru & sl sue fore wifed Feret it € 1 fore o o e/l § 2

(1) wETg
(2) FrREE
(3) ITWES
(4) THsRH
Options:-

=1, Option ID :- 681,
= 2, Option ID :- 682,
= 3, Option ID :- 683,

= 4, Option ID :- 684,
Answer Given:- 4, Option ID : -684

Question ID:- 172

Suppose you are standing on the surface of Moon, you will :
(1) be able to see the earth completely

(2) Dbe able to see the earth partially.

(3) not be able to see the Earth.

(4) be able to see the Great Wall of China completely
FHET] F o 19 e H TaE WES 2 ol :

(1) &9 3 geatt &1 3@ |

(2) A9 geAt = oTifvTeR T | @ U |

(3) 3TY YeT T TE <@ T |

(4) o9 = I e AR T W ¥ S8 e |
Options:-

=1, Option ID :- 685,
= 2, Option ID :- 686,
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= 3, Option ID :- 687,

= 4, Option ID :- 688,
Answer Given:- 2, Option ID : -686

Question ID:- 173

You all have seen snake charmers playing “been’. Which vegetable’s dry shell is used to make
‘been’?

(1) Bottle Gourd
(2) Papaya

(3) Ash Gourd
(4) Pumpkin

39 goft 3 H9E = HA I 3w g EE T FAE & fo e et % g8 gt @ e 2 §
(1) @it

(2) ot

(3) TR

(4) %
Options:-

«1, Option ID :- 689,
= 2, Option ID :- 690,
= 3, Option ID :- 691,

=« 4, Option ID :- 692,
Answer Given:- 1, Option ID : -689

Question ID:- 174

‘Bora” is variety of which grain ?

(1) Wheat

(2) Rice

(3) Maize/corn
(4) Potato

‘I’ feE o i fFEm R 2

(1) 7§
(2) =Ed
(3) W
(4) e
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Options:-

=1, Option ID :- 693,

= 2, Option ID :- 694,

= 3, Option ID :- 695,

= 4, Option ID :- 696,
Answer Given:- 3, Option ID : -695

Question ID:- 175

Raju does the work of dyeing clothes. He can use the colours of which of the flowers below to dye
the clothes ?

(A) Zenia

(B) Marigold

(C) Jasmine

(D) White Butterfly pea

(D (A)

(2 (A)and (B)

(3) (A)(B) and (C)
(4 (B), (©) and (D)

TS FYS] & T 1 HH LA ¢ | T8 FIS| bl T o feae == few e form wefi o 3 1 a0/ & Faal © 2
(A) SHfF

(B) TeaTe

(C) =t

(D) HWHg AT
(1) (A)

(2) (A) iR (B)
(3) (A), (B) ¥R (O)
(4) (B, (C) 3R (D)

Options:-

=1, Option ID :- 697,
= 2, Option ID :- 698,
= 3, Option ID :- 699,

= 4, Option ID :- 700,
Answer Given:- 2, Option ID : -698

Question ID:- 176
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Below are two statements. Choose the correct answer from given options :

Statement I:  Children should be given chance to help each other in the school as well as in
neighbourhood

Statement Il :  Children easily learn a lot from each other.
(1) Statement I and II both are true

(2) Statement I and II both are false

(3) Statement I is true but Statement II is false

(4) Statement I is false but Statement II is true.

= 21 s few e ¥ feu ge et 9 | w3 =Eh

HUT - 1: oo § oiw srg-vSm § o= 1 U9 i Ueg I & Hiehl <1 91e |
HYUA - 11 : TH-gH & oo HEsIdl § 9gd F9 HiEd 2 |

(1) oY I 3R 11 <M WET & |

(2) Y ISR 11 SHi o ¥

(3) hYA I TEl S Tig T 11 7Terd € |

(4) HYF 1 7TEd & Tg R 1 T 2

Options:-

=1, Option ID :- 701,
= 2, Option ID :- 702,
= 3, Option ID :- 703,

= 4, Option ID :- 704,
Answer Given:- 1, Option ID : -701

Question ID:- 177

Consider the following statements and select the correct option(s) :

(A) The people who neither can speak nor hear, they explain their words to others through
gestures.

(B) The people who neither can speak nor hear, they always understand completely what the
other person is saying by studying their lip-movements.

(C) The people who neither can speak nor hear like everyone they can’t be admitted in a
government school.

(D) The people who neither can speak nor hear like everyone, they can only be admitted in a
special type of school.

(1) (A) and (B)
(2)  (A) and ()
(3) Only (A)
(4) Only (D)
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frafafed sweEl W faar F{ 2R |98l 3T & =97 HH|

(A) S0 ST S iR A E gehd, o STOET T gEY 1 SYRI § IHE §

(B) S @ Ere 3R Y e Wehd o GEI I WG GHYN IF BiSl hl SEH T TE THY S ¢ |
(C) ol 0 S 9= Ae-gA Tel HWeohd 3= Geahnl fomera § grfigen =& fean s T €1
(D) Haeh! W& S g9 S-HA 76l Hohd 3¢ 9% G We & faenea § & A femn s 2

(1) (A) 3R (B)
(2) (A) SR (Q)
(3) A (A)
(4) I (D)
Options:-

=1, Option ID :- 705,
= 2, Option ID :- 706,
= 3, Option ID :- 707,

= 4, Option ID :- 708,
Answer Given:- 1, Option ID : -705

Question ID:- 178

What is being talked about in the following lines ?
Life on Earth it has brought,

watered field and life they got.

But when the water breaks in floods,

Great misfortune it always works.

(1) Rain
(2) Flood
(3) Water
(4) Dew
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SRt 9T S o,
g HigaR A=
T el W1 T 6,
IR ST @l €
(1) =i

(2) e
(3) 9wl
(4) ™
Options:-

«1, Option ID :- 709,
« 2, Option ID :- 710,

= 3, Option ID :- 711,

= 4, Option ID :- 712,
Answer Given:- 1, Option ID : -709

Response Sheet

Freferfad dfermi § ferees an & foer fr s w1 82

GET IT ON
Google Play

Question ID:- 179

Match the following :
Deficiency disease/ Disorder
(a) Rickets

(b) Bone and tooth decay
(c) Goitre

(d) Anaemia

(D) (a)-@), (b)-(i), (¢)-(iii), (d)~(iv)
(2 (a)-(i1), (b)-(0). (c)-(iv), (d)-(ii1)
(3)  (a)-(iv), (b)-(iii), (c)-(ii), (d)-(3)
(4)  (a)-(id), (b)-(ii), (0)-(v), (d)-()

Vitamin/ Mineral
(1) Calcium
(1) Vitamin-D
(iif) Iron
(iv) Iodine
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fr=fafaa =1 foem w10
ITHTER /A faefm afs
(a) Terzd (i) hlceam
(b) sfeeral oiR dasm (i) faefm@- D
(c) HE (M) (i) AR
(d) STEE (iv) ErEH
(1) (a)-(@), (b)-(i1), (c)-(iid), (d)-(iv)
(2)  (a)-(i), (b)-(1), ()-(iv), (d)-(iii)
(3)  (a)-(v), (b)-(iid), (c)-(ii), (d)-@)
(4) (a)-(ii), (b)-(ii), (c)-(iv), (d)-()

Options:-

=1, Option ID :- 713,
= 2, Option ID :- 714,
« 3, Option ID :- 715,

= 4, Option ID :- 716,
Answer Given:- 2, Option ID : -714

GET IT ON
Google Play

Question ID:- 180

(A) Dolphines do not have gills

their heads.

(1)  Only (A)

(2) (A)and (B)

(3)  (A) and (O)

(49  (A), (B) and (C)

Choose the correct option from the given statements :
(B) Whales breathe through the nostrils or blowholes located on the upper parts of

(C) Squids usually have streamlined shape of body.
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Frafafed wue 4 9 98l fosked =1 =99 =+

(A) effew § firer =& 2

(B) = far W feerg omgR & vam o ¥

(C) Teae o1 IR TR TR &R &g B8R 2 |

(1) e (A)
(2 (A) 3R (B)
(3) (A) ¥R (Q)
(4 (A), (B) &R (C)

Options:-

=1, Option ID :- 717,
= 2, Option ID :- 718,
= 3, Option ID :- 719,

= 4, Option ID :- 720,
Answer Given:- 2, Option ID : -718
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